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The term "data" came from the Latin root term :

(1) Detem (2) Datam
(3) Datum (4) Data
x "data" QAT A o | oM B

(1) Detem (2) Datam
(3) Datum ' (4) Data

Two ty;;es of research’data include :

(D) Recognised‘and unrecognised data

(2) Structured and unstructured data

(3) Qualitative and quantitative data

'(‘4) Organised and processed data
2 B A wHR E

(1) =T o ol AR-AT=T o e
(2) X oIR STERfa B

(3) TeTHE AR AFTHB ST

(4) Eafed ofk daraa et

Which one is the frue example of primary data from the following options ?

(1) Journal (2) Book
(3) Census Report (4) Newspaper
- FrefiRee Reedt & @ urafie 81 @ g@ Saee A 7
(1) srfer (2) g&H
(3) ST R (4) |HET
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4. What is it called when the data is sourced from the place of origin ?
' (2) Primary

(1) Secondary
(4) All of the above -

(3) Secondary and Primary
ST ST A WM Y Ut Sar B, o 58 9497 el oy B 7

(1) At (2) grafaes
(3) #reEfdE AR grften (4) SURRT A

What is it called when the data source is gathered and compiled with others ?

5.
(1) Primary data (2) Quantitative data
(3) Secondary data | (4) None of the above
ST S GG A THET e o ¥ ol wefer Rper omer ® S 2@ o g
HeT ST 8 7 ,
(1) urerfyes et (2) ATETES e
(3) f&ims 2=t (4) SUET F | B TE
6. What comes right before the formulation of the hypothesis in the research ?
'( 1) Collection of data (2) Analysis of data
(3) Selection of the tools of research (4) Statement of objectives
My F gRepeaT B Pty § S ved 97 oy D ?
(1) 32T 1w () 29T H RSO
(3) ST & IYHRON HT =TT - (4) IRYTT FT FHUT
7. The value of the mode of the set of observations: 5, 8, 8, 1'6, 24, 24, 30, 16, and 24 is -
(1) 24 (2) 30
3) 16 | (4) 08
et H TIE B TGP H AN : 5, 8,8, 16,24, 24,30, 16 A 24 S -
(1) 24 (2) 30
(3) 16 (4) 08
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8. When two variables are related in such a way that one increases so does the other, you
can conclude that :

(1) There is no problem with directionally

(2) The two variables are positive associated

(3) There are no latent variables affecting the relationship

(4) There is a third variable responsible for the causation between them

S QY A% 59 aRE A Al A ¥ B5 o wear ® o gEw off Sedr ¥,
g ge ey e T € RE

(1) fReTcHes ©9 § P gHEm T8 2

(2) Al =R FHRHS &9 F IS g4

(3) €& H TAIGT HIA AT B TR T TS ©
(4) I = HE-HROT & e BroER o T9T =X R

- 9. Choose the correct option regarding the sampling method :
(1) E-sample is the population's part
(2) It helps in determining sampling error
(3) Sampling saves money, time, and energy
(4) All these options are correct :

TR fRafy & R # He-ar feey q9d e w v

(1) AT See & ReEr e
(2) g5 TRl Ffe MuiRa H § 7 B ®
(3) AR A AET, T TR Heolt B e Bl ®
(4) ¥ wf Rrepey & B |

10. One of the members of the population is known as the :

(1) Data ' (2) Family
(3) Element , (4) Group
SEE & Heet ¥ @ g P Hel A6 R
(1) a1 ' (2) gRE
By g , (4) 98
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11, Correlation indicates what kind of relationship between two variables *

(1) Positive (2) Negative

(3) No relationship (4) All of the above
qEHIY A =RF B Ay By ave B dde By gafar 27
(1) EBRTH (2) B

(3) ®E Hey & (4) IUART G

12. Why does the value of correlation range from—1to 1 ?

(1) To indicate the direction of correlation
(2) To indicate the strength of correlation |
(3) Both (1) and (2)
(4) None

e @ o121 A B 7
(1) gedsyg &1 Ram Y R = B g
(2) TeEsy & A B T HT B R
(3) (1) X (2) AT
(4) HE e

~13. Which method is used by Karl Pearson's coefficient for correlation ?

(1) Covariance method (2) Spearman's rank correlation

(3) Product moment method | (4) None of the above
weddy & i el REEs @ s aRT fhe R @ S@w fear s @ 7
(1) TegEeT Ry - (2) EERAT T Y deddy
(3) IrE &79r fafy iE (4) SUUFT F | B &
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14. What is the purpose of constructing index numbers ?

(1) To compare values (2) To measure changes in values
(3) Both (1) and (2) (4) None |
JIhieh AT SN Bl IegT T ¥ 7

(1) T B Jo=T BT (2) geat 7 aReds @ 79T
(3) (1) 37 (2) A 4) P T

15. Which type of average is best to construct an index number ?

(1) Arithmetic mean - (2) Harmonic mean
(3) Geometric mean | (4) All of the above
YIhih §&I1 991 & [T fH TR & ofed §9d IT=sT § 7
(1) iRt Are (2) et AT
(3) STt AT (4) SUFT gN
16. Index number plays an important role in the field of ........... ?
(1) Economic and Science (2) Economic and education
(3) Economic and business (4) Economic and intelligence
GBI G ... F & F Heweel i R § 7
(1). SEiemeA SR fasm= | (2) SrefseR SfX farem
(3) ST SR FTEE™ (4) redemes SR g
17. Circular test an extension of ................ .
(1) Unittest : ’ (2) Circular test
(3) Time reversal test (4) Factor reversal test
TR TUETT ..o, &l R B
(1) HE & (2) TAHR gheTT
(3) FHT IHHOT TOET (4) HREH ISHHAOT TOET
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18.

19.

20.

21.

The adjusted frequency for class interval 15-25 will be :

()20 (2) 5

33 (4) More than one of the above
i ST 15-25 % g wmrefre smafr rft

(D 2 ) 5

33 (4) Sudert ¥ § wh § o

The weighted system changes with .......... ;

(1) Quarter (2) Year
(3) Time : - (4) None
AT TR o ® @Y Tl 8 °

(1) k= (2) av

() ¥ (4) =18 &

The Karl- Pearson's coefficient of correlation method of measuring correlation is :

(1) Graphic gl (2) Mathematical

(3) Positional (4) None of the above
eddy AR @ pe-REeT @ aeddy @y & [awE
(1) i , (2) T

(3) Referet (4) STdET & § P &
What happens to MU when TU is maximum and constant ?

(1) MU become Zero (2) MU become negative
(3) MU declines , (4) MU remains same

S TU efftrepay ol e 8ar 8, & MU &1 <=1 8iar & 7
(1) MU g &1 S @ (2) MU T &1 S{rer 8
(3) MU = 8 (4) MU =& e ®
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22. What causes rightward shift in the demand curve ?
(1) Fall in the price of the good
(2) Fall in the price of substitute good
(3) Fall in the price of complementary good
(4) Both (2) and (3)
ANT g% § IS SR SEwd B T HROT 8 7
(1) T&g & Fma § frae |
(2) A &) H HEd H FREe
(3) = T H HHd H FrREe
@) () S 3) A

23. A consumer consume only two goods. If price of one of the goods falls, the
indifference curve :

(1) Shifts upwards

(2) Shifts downwards

(3) Can shift both upwards or downwords
(4) Does not shift

@wﬁwmaa@eﬁmwﬁwm%laﬁmwaﬁaﬁm
Pt 3, & Sardiser T

(1) W Al IR Rggepar 2
(2)=ﬂ%a§’rvaiﬁ%mw%
() W =1 = AAF oTR Rewes wpe B

(4) Regaar =& B

24. Which of the following can be referred to zis 'point of satiety' ?
(1) Marginal Utility is negative (2) Marginal utility is zero
(3) Total Utility is rising (4) Total utility is falling

FrfafeT & @ &8 wgie Reg’ wer ot gear & 2
(1) ST SRR womers (Z)Wm?:hﬁmw%
) BT ST T W R (4) T ST ge @&
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25. Slope of budget line is :

(1) Px/Py (2) Py/Px
(3) MRS (4) Px.Py
T T &H SO B

(1) Px/Py (2) Py/Px
(3) MRS . (4) Px.Py

26. Which curve represent all the combination of two goods that give the same satisfaction
to consumer ?

(1) Indifference curve (2) Philips curve

(3) Demand curve (4) More than one of the above

BI-HI T A Gl B AW GO B awiar B, o SusheRT B GEH dqte

]34 & 7 o |

(1) SerfFaT @ - (2) Tl T

(3) I @ | 4) ST ¥ § w5 A I
27. 'Who was major protagonist of utilitarianism ?

(1) John Start Mill | (2) Thomas Hobbes

3) Karl Marx | (4) Adam Smith

SUIIRCEE HT " waede B o7 ?

(1) S9 wre &a (2) gmg e=H

(3) BT AR (4) TwsH R=yg
28. A consumer buying behaviour is influenced by :

(1) Cultural and Social Factors (2) Personal Factors

(3) Availability of Product - (4) All of the above

IUARTT EHT SFAger Fr=faied & gwifad & ©

(1) Gigplen AR qFIfsTs ®RE  (2) SARRKE Bk

(3) IUIE &I IYT=[ET (4) SRR Gft
UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(A)




29. The essence of the law of diminishing return is :
(1) Inelastic Production (2) Negative Marginal Production
(3) Declining Total Production (4) Declining Average Production
ged uRed & T @ AR S

(1) SRR I (2) FOTHS AT IqTE

(3) TedT &I FHA IR (4) gear goTr ofrad Iedra

30. Which of the below is a cause of reduced demand ?
(1) Fall in Number of Buyers (2) Fall in Income
(3) Fall in Taste of Consumer (4) All of the above
BT ¥ § @ A5 F HE H BT T 7
(1) @OERT # der ¥ frEe (2) = # fREe
(3) SUHFT & @ 7 FfREe (4) Sqde asft

31. A production function states that there exists a technical relationship between :
(1) Input prices and output prices
(2) Input pricés and quantity of oﬁtput
(3) The quantity of inputs and the quantity of output
(4) The quantity of inputs an.d input prices
UF SR R qar & frefiiad = T qebiel e AT ©
(1) $7gE T R TEege Ted
(2) g A Sl STSTYE H A=
(3) FYe @ TET O} STSeYE H AR

(4) 3ge W AET AR FYE THA
UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(A) P.T.O.
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32. When average product decreases, the marginal product is always :

" (1) Greater than average product (2) Less than average product
(3) Increasing (4) Decreasing
ST ST IS geEar g, o M Sarg eaeT ekl ©
(1) fea IaE § SAfees () NEd IarE 9 HH
(3) SeaT BT © (4) "eaT gl

33. Whenever marginal product is less than average product, the average product must be :

(1) Rising  aia (2) Falling

(3) Equal to marginal product (4) None of the above sl
S GEiT S e SO A HH AT B, @ ofea S AT =R
(l)mgaﬁ(‘»" & ) Frar gaT |
(3)%/3@13%3?@'{ (4) SUART 7 F HIE AL

34. Whenever MP falls and is positive, TP changes at what rate :

(1) TP _riées at.increasing rate
(2) TP rises at diminishing rate
(3) TP decreases after reaching its maximum
(4) None of the above
st o MP FRaT ¥ oI @b @ B, O TP Rbw aX & smerr ¥ 7
(1) TP &gl &X & sigal &

 (2) TP et X q ggar B

. (3) TP oToR. oTiad W UgeM & 91 gedr o
(4) STHT F § B TE

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(A)




35. What happens to ATC when marginal cost.is greater than ATC ?
(1) ATC rises (2) ATC falls
(3) Slope of ATC becomes constant (4) None of the ébove
S ST A ATC ) otfaes &t 8, @ ATC &t &1 &rar 8 ?
(1) ATC Stgar 8 (2) ATC R &
(3) ATC &I & ReX &1 S 8 (4) SIUeT H 9 hig 81

11

36. At any given point of output, the difference between total cost and total(ﬁxed cost is :

(1) Equal to marginal cost (2) Equal to average variable cost

(3) Zero in the short run (4) Total variable cost

Sees & el off BT T Rrg W), g @ SR g R @ & e
=R B ¢

(1) 999 I & e (2) 3T IR@EE AR b SR

(3) oruEiy H A (4) H& IRAAAT ARTA

37. Average total cost curve cannot intersect average variable cost curve, because :
(1) There difference is equal to average fixed cost
(2) Average fixed cost cannot be zero
(3) Both (1) and (2) -
(4) None of the above

- oTEd e AT asp Sl IRECHIE A a9k @ Afiese T8t Y |eRdT, ieh

(1) gg <X Naa ReRX A & S ©
- (2) ShrEa ReR AN A TR 1 e
) () IR A
(4) ST F | Hg L

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(A)

P.T. O.



12

38. At what point does SMC curve intersect SAC curve ?

(1) At the minimum of SAC (2) At the minimum of SMC
(3) At the maximum of SAC (4) None of the above
SMC 5 SAC a5 ot it Reg q¥ SRTedS oheeTm & 7
(1) SAC& gFaq |X (2) SMC & =gAaH X
(3) SAC & STfreras W (4) SueRT § § g TE
39. Whenever marginal revenue becomes negative, total revenue :
(1) Becomes maximum (2) Starts increasing
(3) Starts decreasing B (4) Remains constant
ST A HIH AT SROMTH 81 S 8, o el ored
(1) IEpaw & Sar B (2) 9T Y& B 6T 2
' (3) T e (4) R TEar
40. For a perfectly competitivé market, price would be equivaient to:
(1) Average revenue ' : (2) Marginal revenue
(3) Total revenue ‘ (4) Both (1) and 2)
Teh QUia: gfreadt g & g, Swd awer @l
(1) NEa o= (2) ST T
(3) T T ) (1) &% (2) A=t

41. Perfect competition is a form of market in which there are :
(1) A few firms producing identical goods
(2) Many firms producing differentiated goods
(3) A few firms producing goods that differ somewhat in quality
(4) Many firms producing identical good
gof gitreqet SR @1 9w w9 B, e
(1) 9= a&gedl @1 IR HIA Rl HB FHH
(2) FAfRa aggett & IR HIA a0 HY BH
(3) BB HH U FEISl P IR %_Wmﬁﬁgwaﬁgr
(4) THE aEIST H ITRH FHIA AT B B

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(A)



42. How does AR Curve under perfectly competitive market Looks Like ?

(1) Downward slopping (2) Straight line parallel to X-axis
(3) Upward sloping (4) Straight line parallel to Y-axis
LI el g & dew AR @ dar e § 7

(1) = A MR A= arem (2) X-a187 & FEMiaY el @

(3) FUX W AR A Tl (4) Y-3T81 & FHEEAE A 3@rn

43. Patent is :

(1) A guarantee of quality of consumers
(2) An exclusive right to an inventor of a product

~ (3) A control over some unique source
4) No,ne‘: of the above
P r:
(1) SqsherTal =6 qorET B M
(2) Rt S 3 oTfreRd B UF RAT SR
(3) Rt org2 i aX PR ’
(4) SuderT F & B T

44, AR and MR curves are downward slopping under :

(1) Monopoly - (2) Monopolistic Competition
(3) Perfect Competition (4) Both (1) and (2)

AR STCMR g /9 1 R 2@ a8 € ©

(1) THIEBT - ~ (2) TR SIGEIRGI

(3) get st 4) (1) 9% (2) A

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(A) P.T.O.
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45. Which of the following could be the characteristic of an oligopoly market ?

(1) A few firms | (2) High barriers to entry
(3) Price rigidity = (4) All of the above

M7 & & B0 wh o e @ Rdwar 8wt ¥ 7
(1) BB wit (2) TaeT F I=w e

() T FHERa (4) ST T

46. A price ceiling is :

(1) A minimum price that a firm may charge for a good or service _

| (2) Usually established by the manufacturer of a pr\.oduct
(3). The maximum‘ price that a firm may charge for a good or service
(4) None of the above
T e R
(I)stﬁaﬁéwﬁma@mﬁm%m%m%
(2) SRR WX 6l Seare & Fmtar arr MraiRa fean omar @
(3) SRR e S B w Reel aeg AT AT B R A e

() SO F { g &

47. Which market form there are restrictions on the entry of new firms ?

(1) Monopoly ‘ . (2) Perfect Competition
(3) Monopolistic Competition ~ ~ ~ (4) Oligopoly

g ST 9 # € ®H & J99T WX AREy § 7

(1) BB | (2) et SRR

(3) T SRR (4) SRR

' UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(A)



48. Which one is nof normally possible in case of monopoly ?

(1) MC =MR (2) AC=AR

(3) MR=AR (4) More than one of the above
THREBR & A & se-ar qerd &9 @ @ 787 R 7

(1) MC =MR (2) AC=AR

(3) MR =AR | (4) SRFT F F o & e

49. From the resources allocation point of view, perfect competition is preferable, because :
(1) The firm operates at excess capacity
(2) There is no idle capacity
(3) There is whole variety of output
(4) Free enfry and exit of firms |
Fare ofeed & gites §, ot uftrmsf Jeaw B, 4
(1) B STRIRERT armam W) HH HIA & |
(2) % P emmar T ¥
(3) eTSege @ gl Rfgeaar ®
(4) HHT @1 @od gae AR e

50. The monopolistic firm will be in equilibrium, where :

(1) Price = Marginal Cost (2) Marginal Revenue = Marginal Cést
(3) MR =MC = Price (4) None of the above
e B dge & am, o
(1) wfET =i A (2) i <o = i A
3) MR=Mc=a§q (4) IUFT H q Hig e
P.T.O.
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51.

52.

53.

NI = Domestic Income, when :

(1) Net Factor Income from abroad (NFIA) is positive
(2) NFIA is negative .

(3) NFIA is zero

(4) None of the above

NI =3 7, o :

(1) Ry | = FRb 3 (NFIA) GhRIHH &
(2) NFIA TR &

(3) NFIA s &1

@) ST § F BE T

Value of output is equal to :
(1) Sales + Change in Stock (2) Sales +.Closing Stock
(3) Sales + Openihg Stock
SHSTYE N oI SREX §
(1) o + & & qiadw

(3) forshl + AR T

(4) Sales — Opening Stock

(2) fespt + FH9s i
(4) Rl - oS R

Net National Product at factor cost is cajled :

(1) National Income - (2) Domestic Income

" (3) Personal Income (4) Private Income

PREH AN X P& TS IAE HAE & -
(1) T T v Q) Y ™
(3) =RRE o | @) Pl e

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(A)
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Flow of Gpods & Services and factors of production across different sectors in a barter
economy is known as :

(1) Circular flow (2) Monetary Flow
(3) Real Flow (4) Capital Flow

g e sreformrer & Rt @S A awgelt ol dmett ok ST &
m%mﬁwmﬁww%:a@ |

(1) 9RE= yare () A wEE
(3) ariie wee (4) TS vame
Which of the following is intermediate good ?
(1) Machine (2) Car - ‘
(3) Mobile (4) Sugarcane in a sugarmill
Frfiied # ¥ A AoEd awg TP
(1) === | (2) HR
OELEES ' - (4) S Tt & T
Identify the stock variable :
(1) Wealth o ~ (2) Income
(3) Savings (4) Capital formation
e T & gg=aH B ¢ |
(1) g9 it - (2) ™
(3) == . NORCIREE

Which of the following item not be included while calculating national income by
income method ?

(1) Wages and Salaries ' (2) Royalty

(3) Scholarship (4) Profit
mﬁm‘muﬁﬁﬂmaﬁmmwﬁmﬁﬁgﬁﬁamm@r
oniferT 7&F fRan St =Rl ?

(1) gl 3T A (2) Jaedt

(3) BEgRT (4) s

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(A) ' P.T. O.



18

58.

59.

60.

61.

- (3) U wifeE e

The main difference between GDP and GNP is :

" (1) Capital Gains _ (2) Transfer Payments

(3) Net foreign income from abroad (4) More than one of the above
SR X Sfeq & g g A=

(1) G e (2) EEiEeT P

3) RRer ¥ g= fRsht emg (4) ST F T TH q ST

If we deduct depreciation from GNP the measures of aggregate income that we obtain
is called :

(1) Gross Domestic product at market prices

(2) Gross Domestic Product

(3) Net National Product

(4) Personal Income

gfe &9 SeAq q e 9T g, ﬁraﬁﬁrag—cramwé’ﬁﬁ% IH FHed ¢
(1) ISR g 9% el uX IdE

(2) Fehel BRI IS

(3) I& T I

(4) AR 3T

Which organisation is accountable for calculating the Gross Domestic Product of India ?
(1) Indian Statistical Institute [¢)) Reserve Bank of India

(3) National ‘Statistical Office (4) Ministry of Commerce and Industry
ARG P bl T AR B ToFT & [T HH-T1 o7 Iy & ?

(1) g qitea 9w = (2) IR | S

(4)aﬁ?rmqa'azhvrdam

What is the primary function of a central bank ?
(1) Issuing stock (2) Managing Foreign Exchange

. (3) Regulating the Money Supply (4) Providing insurance
B Yo 7 Wufe B @ E ?

(1) srdeal &l : (2) faRsh g=1 @ geiee
(3)3313:@%?@&4%3%% (4) &FT U= YT

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(A)
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62. Which of the following is considered a liability for a bank ?

(1) Loans given. ‘ ~ (2) Deposits

(3) Treasury bond - (4) Real Estate

| e & Y R d 3 R e AT o 7
| (1) =T a7 |07 4 (2) ST

(3) =10 i ' (4) o= GERT

63. ‘The term "Money Supply" relates to :
(1) Overall money held by the general public over a specified périod of time
(2) The total volume of ‘méney held by the public at a particular point in time
(3) The total amount of money that the government possesses
(4) Both (1) and (2)
“HaT YR o= Pt @ et ¥ :
(1) Freft Fiffe oraftr & ormd ST @1 W@ Y g oA
(2) FpEh AW T9T X SHAT &R W M 89 @ e A=

(3) EXHR F IE AR o el AR
@) (1) 3T (2) S

64. The amount of money in India is controlled by ?

(1) Planning Commission (2) Commercial Banks
(3) Govemmenf of India » (4) Reserve Bank of India
| Wﬁ,waﬁw%ﬂ%mﬁﬁﬁaﬁmﬁ%?
(1) o s (2) R ¥
(3) W T @) s oot 8

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(A) | | P.T. O.
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65. Commercial banks create money in the following ways :

(1) Issuing currency

(2) Creation of bank deposits
(3) Neither (1) nor (2)

(4) Both (1) and (2)

(2) S ST g
(B) T A1) 3R T & (Q2)
@) (1) % (2) A

66. Which of the statéments below is true ?
(1) M3 is the most liquid money sﬁpply measure
(2) M2 is the most liquid money supply measure
(3) M1 is the most liquid money supply measure
(4) All of the statements are true
de Ru T wuEt ¥ § F9-Ar g R ?
(1) M3 99 31f¥res aXa HaT STl Su™ 8
(2) M2 9=9 it TR H&T STYRT U B
(3) M1 @98 ifaes xR HaT STYfl SU™ ©
(4) 9 HIT A B

67. Which of the following is the closest to the money ?

(1) Securities (2) Bonds

(3) Insurance policy (4) All of these
fr=fefaa & & H9-91 99 & T HAG & 7

(1) sierafrar 2) sfs

(3) T diferEl | @) ¥ wsh

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(A)



68.

69.

70.

71.

Waich Ofthe,fouowmg statements is #rue of SLR ?

(1) Ttis to be maintained by all Financial Institutions

- (2) Itis to be maintained ag liquid assets

(3) These need to be kept in no
(4) All of the above s
ﬁ’iﬁﬂﬁr—rﬁﬁaﬁw-wmw SIR & IR ¥ g7 & ?
(1) 38 af g et &)y ame war o &

(2) 38 IO T TR B w7 F JHATT I@T ST &
(3) §F 7T T F @ ST =fRw

n-cash form

(4) ST |+

"Which of the folloWing rules do not apply to banking companies ?

(1) Companies Act (2) Banking Regulation Act
(3) Reserve Bank of India Act (4) All of the above

i & & -ar P SR SRE ) @ 787 O & 7
(1) Fo RfrEm (2 ¥ RfgEe efifem

- (3) AT od S sAfafas (4) ST Tt

Current CRR rate in India is (May 2024) :

(1) 5.0 (2) 4.2 (3) 4.5 4) 3.5
T adHT CRR &X (F32024) 8 :
(1) 5.0 (2) 4.2 (3) 45 (4) 3.5

Scope of Public Finance includes :

(1) Voluntary debt ‘ | (2) Compulsory debt
(3) Internal debt : (4) External debt
et B & T # e @

(1) Qs FoT (2) AFER™ ==oT

(3) s R (4) I =FoT

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(A)

P.T.O.
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72. Gift tax was introduced in the year :

(1) 1958 ‘ (2) 1959
(3) 1960 | (4) 1961
IR X RFa a v Rear wr e’ ?

(1) 1958 (2) 1959
(3) 1960 | (4) 1961

73. When expenditure exceeds total tax revenue, it is called :

(1) Surplus budget | (2) Balanced budget

(3) Deficit budget \ (4) None of these

S Y H BT WO § oAfdes Bar B, @ W/ FHer S B
(1) TR sore (2) HgRm™ aoTe

(3) €I FH I (4) 379 | Pg B!

74. The Wanchoo Committee (1971) probed into :

(1) Direct taxes (2) Indirect taxes
(3) Agricultural holding tax: 4 Non;tax revenue
aigvftfﬁr(wm% SICECO N
(1) S8 HY '(2) SIS BT
(3) F T F (4) T TR

" 75. The Indian income tax is :

(1) Direct and proportional (2) Indirect and proportional
(3) Indirect and progressive (4) Direct and progressive
ARAT IR B
(1) s ST g (2) St SR e
(3) ST ST sFTrSfeT (4) weEr oM sRIsh

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(A)
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The revenue of the State Government is raised from the following sources except one,

- which is that ?

(1) Land revenue ‘ (2) Agricultural income tax

(3) Entertainment tax. (4) Expenditure tax

T TR Al o FrifeoRaa Gt & e o 8, Ram o &, S a8 © 7
(1) 9 o= | (2) HY AIRT

(3) FARSH &Y (4) =TT HT

At what point the primary deficit under the government budget tends to be zero ?
(1) When the revenue deficit tends to be zéro

(2) When the net interest payment is zero

(3) Fiscal deficit = Interest payment

(4) Zero fiscal deficit _

R farg WX EXI soTe & ded UTEiHe HIeT S 8 ST ¥ 7

(1) STo IoTT =1eT {8 Sl 8

(2) 59 Y& AN PRI LI & Sl 8

(3) TSR =IET =TS =

(4) I TSR =TT

The borrowings under the government budget constitute :
(1) Revenue deficit (2) Primary deficit. (3) Taxes deficit  (4) Fiscal deficit

A SoTe & ded I W TS B T

(1) e =JreT (2) srAfdes "®er (3) HT CENET (4) TR e
Name the process wherein the government sells its securities to private owners :
(1) Monetary expansion

(3) Both (1) and (2) |

Sq ufkar @ AE SARY foraH

(2) Disinvestment
(4) None of these :

et B
- (2) fafsast
(1) =i fae o
() (1) 3l () A e il
(SET-Y)/(A) B.T. 0.
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80. Fiscal deficit refers to
(1) Primary deficit — interest payments
(2) Aggregate budget expenditure — aggregate budget receipts
(3) Primary deficit + interest payments
(4) None of these
e el | aegd ®
(1) Ut =1 — AT Y
(2) THY STE HE - T qe Wil
3) Tiies HTeT + ST S

(@) T8 | HIY &l

81. Pick out the direct taxes combination from the following :
(1) Wealth tax and excise duty - (2) Service tax and excise duty
(3) Income tax and‘ service tax (4) Income tax and wealth tax
RrfoRae # & Soder B H HAS G
(1)ﬁqﬁrﬁaﬁ1w¢gﬁs (2) qaT1 H AR I Yh
(3) STEHT AT T A (4) STEHT ST TR BT

82. As per Union Budget 2021- 22, Fiscal deficit is estimated at - percent of GDP in 2021-22 :
() 5.1 (2 16 - (3) 6.82 (4) 7.2

=g goTe 202122 & SAIER, 2021-22 H TR HIET Hh CISICY
gfersrd STgATE & A T

(1) 5.1 (2) 7.6 3) 6.82 4) 7.2

83. Among the following options, which of these is a capital receipt ?

(1) Tax received (2) Dividend received
(3) Disinvestment (4) External grants
Rrsfed feedl § & @ QoI S g7

(1) T FT _ (2) ST FET

(3) fafast (@) B STEE

UG-EE-June, 2024/(Economics-4 Yr)(SET-Y)/(A)
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g4, What does the fiscal deficit relate 1o under the government budget ?

(1) Taxes shortfall (2) Disinvestment shortfall

(3) Borrowings requirement (4) Disinvestment requirement

N TC & et ot e feed derE B 7
(1) & 7 ey (2) R & a6
(3) JUR A ST (4) FafRer @ eTEeTeRd

85. The measures taken using the government budget can impact

(1) Resource allocation (2) Inequalities
(3) Inflation (4) All of the above
| EXHT ST BT ITART 3B Y TY SYET HI TG I5 FHAT &
‘: (1) HEEe SAee Q) srEEFETE

(3) e (4) ST @

 86. The concept of five-year plans in the constitution of India is borrowed from ........... ;

(1) Russia : (2) England
(3) The United States (4) Germany
| o B e ¥ dod e @ SR $ ourC o TE
| o @) Fs
! (3) et T FARET (4) SR
87. Golden Revolution is related to ........... :
1 (1) Precious minerals (2) Pulses
(3) Jute | (4) Horticulture and Honey
0T SHIfey Gl G ceverrreens g B
() vgg @t @) =

(4) SFEE R sTER

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(4) P.T.O.




26

88. Where is Central Agriculture University situated ?

(1) Manipur (2) West Bengal  (3) Andhra Pradesh (4) Uttar Pradesh

=g PN [Qeafqenay wef R B 7
(1) =g (2) uf¥ent ST (3) ST MR

89. India's economic planning cannot be said to be :
(1) Indicative (2) Imperative (3) Limited
WRA B SRR AT B 78T FHer S Fehell ©
(1) Hichicrn (2)\341%{3@‘ - (3) @

- 90. The forth five year plan had begun in the year ............. A

(1) 1969 (2) 1966
(3) 1962 - (4) 1973
e GeEsty AT A ..o, TS BE AT
(1) 1969 (2) 1966
(3) 1962 o et 4) 1973

91. What is the full form of NITI Aayog ?
(1) National Institute to Transfo\rm India
(2) National Institute for Transforming India
(3) National Institution to Transform India
(4) National Institution for Transforming India
AT STERT & QT A KT T 7
(1) A9 SEEee T g S
(2) M FEITYT BR BT gigar
(3) AT RETYLH T FABH I
,(4) AT RIS B ;Wq%ﬁﬁw gfer

UG EE-June, 2024/(Economics-4 Yr. )(SET-Y)/(A)
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! |
g2. Which one of the following was the objective of 12th five year plan of India ?
(1) Faster and Inclusive growth

(2) Faster quick and reliable inclusive growth:
(3) Faster reliable and more inclusive growth
(4) Faster sustainable and more inclusive growth

Wﬁ%aﬁ?m%aﬁlzﬁwmmﬁwm?
(1) O &R w=Esh R

(2) 99 oI Rvgaia TRt R

(3) A AR favaatm oiR eifes wwmsh R

(4) A IR fepres ok oifors woRsh fara

93. The second five year plan laid more stress on :

(1) Industrialization . (2) Removing Poverty
(3) Self - Reliance (4) Agriculture
T deadig A § eiftes SR fREr T '
(1) Sf=EriesYer (2) T BE™T
- (3) ATHTHRAT 4) I

94. Globalization of Indian Economy means :

(1) Increasing External borrowing

(2) Larger FDI '

(3) Import Substitution

(4) Minimum possible restrictions on economic relation with other countries

R oTefemaeT & ASAHOT H Y R
(1) ared SR & I .

(3)am:|ﬁ;ri%rww
(4) aq=q'%5ﬁT & |re ST Heldl 9 =LA | SR

National development council was set up in :

(1) 1948 (2) 1949 (3) 1951  (4) 1952
rr@uﬁzsmqﬁqaa%ww#ﬁﬂéeﬁ
(1) 1948 (2) 1949 - (3) 1951 (4) 1952

U‘G-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(A) - P.T. O.
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96. In which sector the public sector is most dominant ?

(1) Transport (2) Steel Production
(3) Financial Institution (4) Commercial Banking
e & o qrsies & e offtes gt ® 7
(1) aRaes (2) T I
(3) Tl Hears | (4) arforfsges SR
97. In Economics production means :
(1) Farming (2) Manufacturing (3) Creating Utility (4) Making
ST H I 3qhT 37 © |
(1) &= (2) fafsmtor (3) ITARET TAFT (4) T
98. Number of individuals those die in a population in a given period of five is called :
(1) Mortality rate (2) Population density
(3) Birth rate (4) None of these
fepell STEE & diF aut 9 oy ¥ WA arer SfRar @ 9 @y Her Sy T -
(1) 5g =} (2) SHEET "9
@S @) % ¥ B T
99. As perthe 2011 census literacy rate in India was :
(1) 94% (2) 74.04% 3) 88.8% ©(4) 100%
2011 3T ST & STFER 9IRS § |ERAT a3 off -
(1) 94% (2) 74.04% (3) 88.8% (4) 100%

100. India's unemployment is estimated by :

(1) Finance Ministry (2) RBI
~ (3) NSSO ) 1S0
(1) fo H=mera (2) RBI
(3) NSSO @) 1SO

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/( A)
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1
1. Pick out the direct taxes combination from the following :
1 .
(1) Wealth tax and excise duty (2) Service tax and excise duty
(3) Income tax and service tax (4) Income tax and wealth tax
FrfefeT & & wer B w1 e gy
(1) | Y IR S s (2) AT F A ITAE Yh
O)STEPTISNS S ¢ (4) TRy SR Haf &%
2. As per Union Budget 2021- 22, Fiscal deficit is estimated at - percent of GDP in 2021-22 :
(D) 5.1 () 7.6
(3) 6.82 4) 72
DI SeTe 2021-22 H AT, 202122ﬁ?ﬁ2ﬁ5ﬁamwaﬁmw
gire AT @
(1) 5.1 (2) 7.6
(3) 6.82 4) 7.2
3. Among the following options, which of these is a capital receipt ?
(1) Tax received (2) Dividend received
(3) Disinvestment (4) External grants
R facedi & & B dofimer oy ¥ 7
(1) 9Tt (2) ATy AT
(3) fafw@er | (4) FEd STFEH
4. What does the fiscal deﬁc1t relate to under the government budget ?
(1) Taxes shortfall (2) Disinvestment shortfall
(3) Borrowings requlrement 4) Disinvestment requirement -
e SoTE B STt et ATel e e g7
(1)aﬁﬁﬁab‘ﬁﬁ (Z)WQT;W
(3) T & AR (4) fafvRer @l SAELFhT
: i P.T.O.
UG-EE-June, 2024/(Ec0nom1cs-4 Yr.)(SET-Y)/(B)




et St i

The measures taken using the government budget can impact :

(1) Resource allocation (2) Inequalities

(3) Inflation (4) All of the above
Hmﬁmmmmﬁﬁqmmmwﬂqgw%
(1) Eaee aTded (2) STEHTAE

(3) FETERI (4) SUART F@q

The concept of five-year plans in the constitution of India is borrowed from ........... i

(1) Russia ~ (2) England

(3) The United States (4) Germany

qRa B AR §F gaediy domiel @ SEaReT . $ SUR @ TS T
(1) == @

(3) |FFT T AR | (4) ST

Golden Revolution is related to ........... .

(1) Precious minerals 3 (2) Pulses

(3) Jute 0 | (4) Horticulture and Honey
ol Shifcl 1 HEe ... AR e

(1) sgaea @it Q) s

(3) I | (4) FrEr SR SR

Where is Central Agriculture University situated ?

(1) Manipur (2) West Bengal  (3) Andhra Pradesh (4) Uttar Pradesh
T FY Rafere s Raw ¥ ?
(1) \fergT (2) ofEm ST (3) T uéw 4) I Ty

UG-EE-June, 2024/(Ec0n0m|cs -4 Yr.)(SET-Y)/(B)




10.

11.

12.

13.

India's economic planning cannot be said to be :

(1) Indicative (2) Imperative (3) Limited (4) Democratic
ARA P AMH AT B 7&T a7 ST gepar B

(1) Hihferen (2) AfE (3) &t (4) AR
The forth five year plan had begun in the year ............. :

(1) 1969 (2) 1966 (3) 1962 (4) 1973

N ety AT A T e g o

(1) 1969 (2) 1966 (3) 1962 (4) 1973

Scope of Public Finance. includes :

(1) Voluntary debt (2) Compulsory debt
(3) Internal debt (4) External debt A
T B & AR # e @

(1) Qs o - (2) AfEE T

(3) STidfes FoT O EIREA

Gift tax was introduced in the year :

(1) 1958 (2) 1959 (3) 1960 (4) 1961
SUER X fohe a9 qar fopar mar e 7
(1) 1958 L (2) 1959 (3) 1960 - (4) 1961

When expenditure exceeds total tax revenue, it is called :

(1) Surplus budget (2) Balanced budget

(3) Deficit budget Ry (4) None of these

St = el I T T AP BT B, A 5§ Her o D
(1) SRR sore ‘ - (2) g ToTe

(@) W2 F A @) =% T B T

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B)
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-14.  The Wanchoo Committee (1971) probed into :
(1) Direct taxces (2) Indirect taxes
(3) Agricultural holding tax (4) Non-tax revenue
gig |affy (1971) 9 Sitg &
(1) ey X (2) oTo@ey HX (3) H S HX (4) AT-HYT TOTA

15. The Indian income tax is :

(1) Direct and proportional (2) Indirect and proportional
(3) Indirect and progressive (4) Direct and progressive
AR ST D |

(1) I8y 3R AR (2) oTocTET ST ST
(3) Auer 3N wTfershier (4) gt 3N wETferefier

16. The revenue of the State Government is raised from the following sources except one,
which is that ?

(1) Land revenue (2) Agricultural income tax

(3) Entertainment tax (4) Expenditure tax

T BN BT Ioted e adl § SJJerm ST 8, e a &, o g8 & ?
() 9 T (2) BN AR (3) AARSH B (4) T FY

17. At what point the primary deficit under the government budget tends to be zero ?
(1) When the revenue deficit tends to be zero
(2) When the net interest payment is zero
(3) Fiscal deficit = Interest payment
(4) Zero fiscal deficit
e g T AR SoTe & ded IR =TeT S @ Sy ¥ 7
(1) ST ToTa =TT §FF & S @
(2) 59 & =T PR LI & S 8
(3) TR |TST = TS W
(4) LT T AT

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B)



18. The borrowings under the government budget constitute :
(1) Revenue deficit (2) Primary deficit (3) Taxes deficit ~ (4) Fiscal deficit
GIH &S & Ted I 7 7o Ay
(1) TS =er (2) wafes mer  (3) T HET (4) TR =reT

19. Name the process wherein the government sells its sccuritics to private owners :

(1) Monetary expansion (2) Disinvestment

(3) Both (1) and (2) (4) None of these
aazﬁn?mwmwﬁﬂﬁwaﬁqﬁﬁﬁﬁa%ﬁﬁﬁmﬁ
(1) Afzep R (2) R (3) (1) TR (2) T (4) 278 | aas‘ SE]

20. Fiscal deficit refersto:
(1) Primary deficit — interest payments
(2) Aggregatc budget expenditure — aggregaté budget receipts
(3) Primary deficit + interest payments
(4) None of these
TSR "rer & aad ®
(1) urafdes =rer — ST (2) THT ST AT — AT SSie At
(3) wTfes =reT + TS YA (4) =7 | HIF ALl

21, What is the full form of NITI Aayog ?
(1) National Institute to Transform India
(2) National Institute for Transforming India
(3) National Institution to Transform India
(4) National Institution for Transforming India
AT GTENT B QT AH FE 7
(1) Ao Sege g FEsr Fe (2) AT TG B BT g
(3) e S T, pEwH A (4) AT ST BN ST gfear

P.T.O.
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22. Which one of the following was the objective of 12th five year plan of India ?
(1) Faster and Inclusive growth
(2) Faster quick and reliable inclusive growth
(3) Faster reliable and more inclusive growth
(4) Faster sustainable and more inclusive growth
Frafafad § & SHF-a1 9= @ 124 e drorr S I8d o ?
(1) 957 ok amash Repr
(2) A7 &R fsgaiim TRl R
(3) O IR Frseag iR i TmRh R
4) AT oIR Rebros R ot wast Fehrar

23. The second five year plan laid more stress on :

(1) Industrialization (2) Removing Poverty
(3) Self - Reliance ' (4) Agriculture '
g0 gEad Qe 7 offeres SR fRar

(1) SETepor \ (2) TR gerT

(3) SR (4) H

24. Globalization of Indian Economy means :
(1) Increasing External borrowing
(2) Larger FDI
(3) Import Substitution
(4) Minimum possible restrictions on economic relation with other countries

AR Sefeaee] & AdIhYer &1 o7 ® -

(1) Il SUR H g

(2) S=TFDI.

(3) ST AferERmI=

(4) 3T 3T B AT AR el R ~ATH F9I gferser

25. National development council was set up in :

(1) 1948 - (2) 1949 (3) 1951 (4) 1952
TE e akeg @ wOET B T o
(1) 1948 (2) 1949 (3) 1951 (4) 1952

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B)




26.

27.

28.

29,

it |

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B)

(3) Financial Institution

30.

In wnicn S€CLour ue punlic sector 1S most dominant 7

(1) Transport (2) Steel Production

(4) Commercial Banking

Fpe & H TG & wwd oiftes werE ¥

(1) aiEed (2) TEITE IETEA

(3) Forir Eeer | (4) aforoes SfET

In Economics production means :

(1) Fafming (2) Manufacturing (3) C'reating‘Utility (4) Making
Aefee H IdET sE@T ot ¥ |

(1) &xit (2) fafmior (3) SYARAT IAFT (4) ST

Number of individuals those die in a population in a given period of five is called :
(1) Mortality rate | ‘ (2) Population density

(3) Birth rate | ~ (4) None of these

el STTeRET & e Ot @ orafy ¥ WX arer ekl @ e @ el ST ¥
(1) 11633‘{ ' ‘ | (2) SHEET g9

(3) ST & - 4) 5777 | B T

As per the 2011 census literacy rate in India was >

(1) 94% L (2) 74.04% (3) 88.8% (4) 100%

2011 37 SFRTOMT & STIAR WRA H AR & o ¢

(1) 94% (2) 74.04% (3) 88.8% 4) 100%

India's unemployment is estimated by :

(1) Finance Ministry | (2) RBI
-(3) NSSO s A (4) ISO
AR W AASET T STIAF BB E ST ST ¥ 7
(1) fo=r H@=me ™ (2) RBI
(3) NSSO 5 (4) 1ISO

P.T. O.



31.

32.

33.

The term "data" came from the Latin root term :

(1) Detem : (2) Datam
(3) Datum (4) Data
I "data" Qe W 9= @ B g : .

(1) Detem (2) Datam
(3) Datum _ (4) Data

Two types of research data include.:

(1) Recognised and unrecognised data

(2) Structured and unstructured data

(3) Qualitative and qliantitative data

(4) Organised and processed data

Qe 32T & & UBKR B -

(1) AT O AR AR-ATAT uT 8
2) R AR e e

(3) oTHF AR HEHTHE ST

(4) Efea R darEa Se

Which one is the frue example of primary data from the following options ?

(1) Journal (2) Book

(3) Census Report ~ (4) Newspaper
Fr=ifefad faedl & & mafie 2er @1 g8t Saewer g © 2
(1) s (2) g5

(3) ST R (4) TTER

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B)
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34. What is it called when the daty s sourced from the place of origin ?

(1) Secondary 2) Primary

(4) All of the above
Wgﬂqﬁ@ﬂ@%%ﬁm% o Fq T wer ST ¥ 7

(3) Secondary and Primary

(1) ATt (2) et
(3) AR ST wrerfe (4) ST T
35. What s it called when the data source is gathered and compiled with others ?
(1) Primary data (2) Qﬁantitative data
(3) Secondary data (4) None of the above
m%m@aﬁ@%ﬁﬁﬁmw%aﬁmﬁmw%ﬁrﬁmw
Hel Sar § 7 |
(1) urgieR 21 (2) A=THS ST -
(3) facige 2er (4) ST F F B &

36. What comes right before the formulation of the hypothesis in the research ?
(1) Collection of data , (2) Analysis of data
(3) Selection of the tools of research (4) Statement of objectives

oher F gRepeaer & fofor @ S U8 F1 Al § 7

(1) SeT F1 €GB (2) 2T @1 fasqger

(3) SNy & IgHON HI AT (4) IEAT BT HAA

The value of the mode of the set of observations: 5, 8, 8, 16, 24, 24, 30, 16, and 24 is :
(1) 24 (2) 30

(3) 16 (4) 08

Yerott B wHe B Igeid P AT 15,8, 8, 16,24, 24, 30, 16 324 7

(1) 24 (2) 30

(3) 16 (4) 08

P.T.O.
UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B)
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38. When two variables are related in such a way that one increases so does the other, yq,
can conclude that :

(1) There is no problem with directionally

(2) The two variables are positive associated

(3) There are no latent variables affecting the relationship

(4) There is a third variable responsible for the causation between them

ST R WX 39 R Gl O ¥ R o gedr @ A g@d N 99 E &
AT Te A=py e goa B 6

(1) R ww & HF g =96 2

(2) S T} WHREF &9 q S gC &

(3) HET F qWiAT HE g His ST IX A%l o
(4) 7% &g FE-FRT F Y /R oh @

39. Choose the correct option regarding the sampling method :
(1) E-sample is the population's part
(2) It helps in determining sampling error
(3) Sampling saves money, time, and energy
(4) All these options. are correct
T R & qR F Bie-ar e T we 7
(1) AT STEE & e
(2)qgwwaﬁﬁafﬁamﬁﬁww%
(3) TATHT A &, FHF IR Tl B e B
4) & g ReeT @& B |

40. One of the members of the population is known as the :

(1) Data | (2) Family
(3) Element (4) Group
e @ gee@ § q T B FHel I B
(1) 2= (2) "iar
(3) I 4) 918

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B)
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 41.. NI=Domestic Income,’ when
(1) Net Factor In¢01ne from abroad (NFIA) is positive
(2). NFIA is ncgative
(3) NFIA is zcro
(4) None of the above
NI =R T, 9 : |
(1) Ry & = *rs m(NFIA)W a
(2) NFIA 9596 &
(3) NFIA g &1
(4) SUAKT H | B TE
42. Value of output is equal to :
(1) Sales + Change in Stock (2) Sales + Closing Stock
(3) Sales + Opening Stock ' (4) Sales — Opening Stock
STICYE FHl HTY S B |
(1) Rl + = F gRad ) R+ g =i
(3) foa + o 1% (4) femhl - SR wieh
43. Net National Product at factor cost is called :
(1) National Income (2) Domestic Income
(3) Personal Income (4) Private Income
HRE AR TGS AT IS FOAI T
(1) i o (2) T
(3) =afRrTa e (4) Pt o
P.T. O.

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B)
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44. Flow of Goods & Services and factors of production across different sectors in a barter
economy is known as :
(1) Circular flow

(3) Real Flow

(2) Monetary Flow
(4) Capital Flow

g Rfrw owfermen ¥ Rfw 85 ¥ awgel ol el ok SORA 3
FRB B YGTE B 30 ST F ST S@T D

(1) IR e | (2) Aiger gare
(3) I vare (4) IST vare
45. Which of the following is intermediate good ?
- (1) Machine (2) Car
(3) Mobile - (4) Sugarcane in a sugarmill
FrfeRe & & &9 Aeedf axg & ?
(1) "= (2) FX ‘
(3) FETEA 4) == BT § T
46. Identify the stock variable :
(1) Wealth (2) Income

(3) Savings |
i IX Hl g8dT he -
(1) &= ‘ (2) =
(3) F=d (4) TS fomfor

(4) Capital formation

47. Which of the following item nof be included while calculating national income by
income method ? '

(1) Wages and Salaries (2) Royalty

(3) Scholarship (4) Profit

o fafy BN IS S & T FRA q Feafefad ¥ § feg one @
iy 7@7 fhar ST =Ry ?

(1) Fgorgll AR I+ (2) I
(3) sEg (4) &

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B)
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49

| 50.
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The main difference between GDP and GNP is
(1) Capital Gains

(3) Net foreign income from abroad (4) More than one of the above

Tl SR S %Eﬁaﬂ'@@ﬁ‘{'%

(1) oI sy (2) SIS ST
(3) fReT & = R ey (4) ST # § wh § oifies

(2) Transfer Payments

If we deduct depreciation from

. GNP the measures of aggregate income that we obtain
is called :

(1) Gross Domestic product at market prices
(2) Gross Domestic Product

(3) Net National Product
(4) Personal Income

AR B ST & e gery ¥ ﬁraﬁﬁr@aﬂamﬁeﬁr% Iq FEA T
(1) SR T 9 WeheT T e
(2) HHA B IS

) = T I
(4) RT3
Which organisation is accountable for calculating the Gross Domestic Product of India ?
(1) Indian Statistical Institute (2) Reserve Bank of India
- (3) National Statistical Office (4) Ministry of Commerce and Industry
CIRT & Fehel B IR B AT F A BT W S § 7
(1) s difeeh deerm (2) 9 Rord S
3) U wiRkegeh HraeH (4) T T I HATH

What is the primary function of a central bank ?

(1) Issuing stock (2) Managing Foreign Exchange

(3) Regulating the Money Supply (4) Providing insurance
BRI Fep 1 AAHE B T8 7 |
(1) STepat &1 (2) Fceft JaT i e

(3) HET oMgRf W RAFERT BT (4) T OTRE HA

PUT Ol
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52. Which of the following is considered a liability for a bank ?

(1) Loans given (2) Deposits

(3) Treasury bond (4) Real Estate
FrfefeT & & Bd &% & foo w77 ST 7
(1) R wmm o1 (2) s

(3) goTdt =is (4) Srere GERT

53. The term "Money Supply" relates to :
(1) Overall monéy held by the general public over a specified period of time
(2) The total volume of money held by the public at a particular point in time
- (3) The total amount of money that the government possesses
(4) Both (1) and (2)
“GaT oTgft” s e § weifew ® |
(1) foelt ffdse eafyr § o Sem &vT @ W g =
(2)Wﬁﬁquawm@mma%§ﬁw
(3) GXHR & U HIS[E 99 &H HA LA |
@) (1) R (2) AT

5';4. The amount of money in India is controlled by ?

(1) Planning Commission (2) Commercial Banks
(3) Government of India " (4) Reserve Bank of Indja
WRA e ) AT e SR RrEtE o § 7

(1) ™ SAERT. ‘ (2) =anforger S

(3) ST BT | (4) I R 3

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B)



55. Commercial banks create money in the following ways :
(1) Issuing currency
(2) Creation of bank deposits
(3) Neither (1) nor (2)
(4) Both (1) and (2)
a6 Fr=falRaa a8 9 e A ¥
(1) J&T ST BT
(2) S ST H G
@) T A1) IR T H(2)
(4) (1) 3T (2) A

56. Which of the statements bélow is true ?
(1) M3 is the mostlliquid money supply measure
(2) M2 is the most liquid money supply measur;:'
(3) M1 is the most liquid money supply measure
(4) All of the statements are true
o Ry g Syt F § HA-A1 FF 8 7
(1) M3 @y oferes ol JoT SR ST .8
() M2 Gag SIferes aXel a1 SRl SU §
(3) M1 ey oifash aXel AT STRY 0T ¥
(4) |t BT T ©

= 57 Which of the following is the closest to the. money ?

(2) Bonds

(1) Securities
(4) All of these

(3) Insurance policy
W@Hﬁaaﬁﬁ-ww%mﬁmﬁa%?
(1) wfRrafRET (2) afe
(3) T diferdt 4) T |
P.T. O.

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B)
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58. Which of the following statements is frue of SLR ?
(1) It is to be maintained by all Financial Institutions.
(2) It is to be maintained as liquid assets
(3) These need to be kept in non-cash form
(4) All of the above
Rrifeiad & ¥ @F-a1 HuT SLR & ek & @7 & 7
(1) 38 wf Rl dRemel &) s <@ S 8
(2)3%@@2?@%%@:1‘#@&?@6{@%
(3) 3% I-Ths U H @1 ST =AY
(4) ST gl

59. Which of the following rules do rot apply to banking companies ?

(1) Companies Act ' ~ (2) Banking Regulation Act
(3) Reserve Bank of India Act (4) All of the above
Prefefag & @ @-a1 g SfkeT ®ufEl ) ang 787 ek 8 7
(1) o e () e RfeE sfatrm
(3) IR R ¥ s (4) SUAeRT AR

60. Current CRR rate in India is (May 2024) :

(1) 5.0 () 4.2 (3) 4.5 4) 3.5
AR # aeH CRR X (75 2024) ®
(1) 5.0 (2) 4.2 (3) 4.5 ) 3.5

61. What happens to MU when TU is maximum and constant ?

(1) MU become Zero (2) MU become negative

(3) MU declines (4) MU remains same

S TU etfterad &R Rer 8 B, & MU &1 == &1y © 7

(1) MU g/ & S & (2) MU =6 &) sy &
(3) MU weal ® (4) MU €1 <& 2

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B)
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What causes rightward shifl in the demand curve ?
(1) Fall in the price of the good

(2) Fallin the price of substitute good

(3) Fall in the price of complementary good

(4) Both (2) and (3)

|7 a6 J &3 oY S=ea B gy prer ® 7
() T%g F HHT F Pree

(2) O a5 & g § Free

() T=H I N FHua § FREe

(4) (2) X (3) AT |

A consumer consume only two goods. If price of one of the goods falls, the
indifference curve :

(1) Shifts upwards

(2) Shifts downwards

(3) Can shift both upwards or downwords
(4) Does not shift

@Wﬁ%ﬁ%ﬂ@@ﬂ@ﬁﬂmélqﬁm@qgaﬁwm
FRel B, A1 SeRAEar a6 ¢

(1) S & X Regepar B
) = @ M Ragwehar B
(3) SHuT AT Y T IR R e &

(4) Reeepar & &

Which of the following can be referred to as 'point of satiety' ?

@)) Marginal Utility is negative (2) Marginal utility is zero
(3) Total Utility is rising (4) Total utility is falling

PR # @ B agie Rrg wer S @ ¥ 7
(1) g STAFTET FOTHD & (2) Swi SN O §
(3) H ST TT W T (4) T SUARRT g & E

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B) P.T. 0O,
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65.

66.

67.

68.

B
B

Slope of budget line is : ' €
(1) Px/Py (2) Py/Px

(3) MRS N (4) Px.Py

o [T HT &AM 8 ¢

(1) Px/Py (2) Py/Px

(3) MRS ~ (4) Px.Py

Which curve represent all the combination of two goods that give the same satisfaction
to consumer ?

(1) Indifference curve (2) Philips curve
(3) Demand curve (4) More than one of the above
BT g6 A aEgell B g dheEt @ gear g, ST SUHAERT Sl FHE Hfte
W |
(1) ST O (2) feRre am 7(
(3) HFT T (4) ST & | wh § Afren
Who was major protagonist of utilitarianism ?
(1) John Start Mill | (2) Thomas Hobbes
- (3) Karl Marx (4) Adam Smith
SUARTETE & T THfE B oy ?
(1) S & foer (2) 99 Brey
(3) hrel AR ' (4) <=9 fep
: 71,
A consumer buying behaviour is influenced by : -
(1) Cultural and Social Factors (2) Personal Factors
(3) Availability of Product = - (4) All of the above

WWWW@H%HW@W%;;
(1)91@%@?%@%%‘ 2) AT PR
(3) I A IqeT=IAT 4) ST iy

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B) . UG-EER



69. The essence of the law of diminishing return is :

(1) Inelastic Production
(2) Negative Marginal Production
(3) Declining"l‘otal Production
(4) Declining Average Production
ged Ui B Fram @ ar
(1) SRR IqET
(2) FOTHS AHT IR
(3) T g F SeE

(4) T I ST Il

Which of the below is a cause of reduced demand ?

(1) Fall in Number of Buyers ' (2) Fall in Income
(3) Fall in Taste of Consumer (4) All of the above
fpsy & § i |67 F B H HROT 7 |

(1) wlert = W & FrEe () o ¥ Freme
(3) ST & @ § FrEe (4) STt T

Correlation ihdicates what kind of relationship between two variables ?
(1) Positive (2) Negative

" (3) No relationship (4) All of the above

wqaaﬁ%aﬂa.maﬁ%ﬁﬁuﬁﬂﬁm%?
(2) THERTHD
(4) IUART G

/b o S e e gy o, ey s
B e gy, AN e L My S

(1) GHRIHH

| - (3) B HEy @A 4
. UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B)
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" 72. Why does the value of correlation range from —1to 17
(1) To indicatc the direction of correlation
(2) To indicate the strength of correlation
(3) Both (1) and (2)
(4) None
TEHET B A -1 F 1 T ) ar & ?
(1) "easy 1 Rem @7 e & & R
(2) wEEIY @1 dqba B R HA B G
(3) (1) 3% (2) At
(4) =18 =&

73. Which method is used by Karl Peafson's coefficient for correlation ?

(1) Covariance method - (2) Spearman's rank correlation

(3) -Product moment method (4) None of the above

Wi B R et Rere & o S e R B o e o 3 2
(1) wewEReT fafy _ (2) TAT w7 Y5 gedsy

(3) S &7 fafyr (4) ST & § HE 75

74. What is the purpose of constructing index numbers ?

(1) To compare values (2) To measure changes in values

(3) Both (1) and (2) : (4) None

gahih Tl S 1 IgF T 7

(1) et B AT BT (Z)Wﬁfqﬁaﬁ:{qﬁw
(3) (1) SR (2) It | 4) B 5

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B)



75. Which type ol'average is best to construct an index number ?

76.

77

78,

(1) Arithmetic mean (2) Harmonic mean
(3) Geometric mean (4) All of the above

LRI AT T F Riw frg webre @1 ol @ed s T 7
(1) STFRRNT Arey (2) B HTeq |
(3) S Arey (4) SURT A

Index number plays an imporiant role in the field of ...........]

(1) Economic and Science (2) Economic and education

(3) Economic and business (4) Economic and intelligence

GEHI® AT ... F & A weaqEl i e R 7
(1) STIsTE 3R fasm= (2) Tefeme SR farem

(3) ST X a9 (4) TeimeA IR gheHw

|4

Circular test an extension of ........ ry ol .

(1) Unit test (2) Circular test
~(3) Time reversal test , (4) Factor reversal test
FATHR TUTT ..o H e B

(1) Zehr3 TETor (2) FTATHIT TLETOT

(3) §°d SohAIT gieror (4) hEH ICHATT TUEOT

The adjusted frequency for class interval 15-25 will be :

(1) 2 2) 5

3) 3 | (4) More than one of the above
9 SFeRTe 15-25 % g SHEe etgf grfr

(1) 2 (2) 5

3) 3 (4) ST H | wh A Al

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B)
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79. The weighted system changes with ......... , e
(1) Quarter (2) Year (3) Time 4)
RG] IS D AT Sgern & 7 ot
(1) e (2) af (3) @9 4

B Ty 2 : i elation is :
80. The Karl- Pearson's coefficient of correlation method of measuring Corr_

(2) Mathematical

(1) Graphic
(@)) None of the above

(3) Positional
FEEET AN # He-RedT #) gedsy @Ry w5 Edes ¥
(1) T (2) TR

(3) Rufera ©(4) [T FH Fq BB ARA

81. Perfect competition is a form of market in which there are :
(1) A few firms producing identical goods
(2) Many firms producing differentiated goods
(3) A few firms producing goods that differ somewhat in quality -
(4) Many firms producing identical good
gof gfeeqyl IR @1 9@ w9 R, R
(1) T IEgAl &1 IEEA B - HFH BH
(2) frafea axgsit @1 SRH HA Al B B
(3)@ﬁmmﬁwmm%ﬁﬁaamﬁ@waw%
(4) GaH GRS B IARA FH aN HS B

82. How does AR Curve under perfectly competitive market [ooks Like ?

(1) Downward slopping (2) Straight line paralle] to X-axis
(3) Upward sloping (4) Straight line paralle] to Y-axis
W:MW%WARW%W%@HT%?

(1) = # IR @ grer (Z)X-Gm%mmm@,gﬁ}@
(3) HUX F AR A qral (4)Y'G?H%'Wm@gﬁ}@-r

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B)
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83. Patentis :
(1) A guarantee of quality of consumers
(2) An exclusive right to an inventor of a product
(3) A control over some unique source
(4) None of the above
qdT B -
(1) ST N qorerr & MRS
(2) TFEl S & TP #H usp ROy SRR
(3) &l o1 A 9x T
(4) STHT F A B T

84. AR and MR curves are downward slopping under :

(1) Monopoly : . (2) Monopolistic-Competition
(3) Perfect Competition | (4) Both (1) and (2)

AR SR MR &% 13 1 ofK et A A ¥ -

(1) TR O (2) ThIRRRR SRETE

@) Tf sRefEr () (1) 3R (2) A

85. Which of the following could be the characteristic of an oligopoly market ?

(1) A few firms (2) High barriers to entry
(3) Price rigidity (4) All of the above

et & 9 HI9-91 T STk S A AATar & dendt ® ?
(1) BB HH ‘ 2) v § Ieg qrad

(3) TeT FERT (4) ITde @

- UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B) P.T.O.
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86. A price ceiling is :
(1) A minimum price that a firm may charge for a good or service
(2) Usually established by the manufacturer of a product
(3) The maximum price that a firm may charge for a good or service
(4) None of the above
T 49T ®
() 20 T3 S B ot oot g o @t @ Rrg & Tl
(2) SRR T feh S & Prafar gy Fraffe R smer
(3)3#ﬁaﬁqi@ﬁ®3‘ﬁﬁ%ﬁaﬁmwa%%q%m%
(4) STUFT F § HE 7 |

87. Which market form there are restrictions on the entry of new firms ?

(1) Monopoly (2) Perfect Competition
| (3) Monopolistic Competition (4) Oligopoly
mwmﬁ%ﬁ%ﬁmq—{ma%?
(1) GeHIEpR (2) qot wferfEr
(3) THRHR gREAT (@) s
88. Which one is not normally possible in case of monopoly ?
' (1) MC=MR (2) AC=AR
(3) MR = AR 4) Mqre than one of the above
THIEHTT & AT H DA T ST Hg 77 3 ?
(1) MC=MR (2) AC=AR
(3) MR = AR (4)G%ﬁa‘@5@(aﬁbzﬁ

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B)
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90.

91.
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From the resour ; e imscn
urces allocation point of view, perfect competition 1s preferable, because :

(1) The firm operates at excess capacity
(2) There is no idle capacity

(3) There is whole variety of output

(4) Free entry and exit of firms

(1) & StRfea awar o & HE §
(2) & Ffepg apvar & B

(3) STSEgE # T FREET ¥
(4) BT 1 o gae SR e

The monopohstlc firm will be in equilibrium, where :

(1) Price =Marginal Cost (2) Marginal Revenue = Marginal Cost
(3) MR = MC = Price (4) None of the above
T & A B 8, St ¢
(1) sfFE=EEia A (2) S TR = G A
(3) MR =MC =94 (4) ST 7 | BHIE T

A production function states that there exists a technical relationship between :

(1) ‘Input prices and output prices

(2) Input prices and quantity of output

(3) The quantity of inputs and the quantity of output

(4) The quantity of inputs and input prices
@Wmﬁm%%m%mwmﬁwaW%
(1) §ge T ST STege T

(2) ge I ST SSEGE B A

(3) Ige 1 AT S SIS i H=T

(4) gTge B A ST T T

}
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92, When average product decreases, the marginal product is always :

(1) Greater than average product (2) Less than average product
(3) Increasing | (4) Decreasing

S ST IR Hedm ¥, O @i Sqre sdem e ©

(1) ST\ SO & e 2) olrad S A HH

() Sgar g . (4) TeaT gl

93. Whenever marginal product is less than average product, the average product must be :

(1) Rising | (2) Falling

*(3) Equal to marginal product (4) None of the above

ST S AT Sere Sl S F w5 AT P, A ofed SarE ST =Ry -
(1) ST gom e (2) FreaT gem

() FT IAR F IR (4) ST F ¥ BE TS

94. Whenever MP falls and is positive, TP changes at What rate :

(1) TP rises at increasing rate
(2) TP rises at diminishing rate
(3) TP decreases after reaching its maximum
(4) None of the above | ,
aaaﬁwﬁl‘{m%eﬁtwr‘q—cﬁ‘@m% a‘r'rp%gﬁam%?
(1) TP s &% & siedl &
(2) TP ge<lt X & sar 8
(3)Waq%e®aﬁwwq§ﬁ%%aﬁam§
(4) SUART F § B G

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(B)
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What happens to ATC when marginal cost is greater than ATC ?

(1) ATC rises (2) ATC falls

(3) Slope of ATC becomes constant. (4) None of the above

S AT A ATC & ot &t 2, & ATC %7 ar @ar & 2

(1) ATC 5gar (2) ATC Prar &
() ATC®HT a9 R & s & (4) Sued F ¥ A 78

96. Atany given point of output, the difference between total cost and total fixed cost is :
(1) Equal to marginal cost (2) Equal to average variable cost
(3) Zero in the short run | (4) Total variable cost
wm%%@f%ﬁmﬂq%@'w %Waﬁ'{a@ﬁeﬂw%@aaﬂ
HRX B
(1) 9¥id aFe & 9E (2)aﬁwqﬁaﬁ=ﬁum%w
(3) SRy ¥ g (4) B aRadT are

97. Average total cost curve cannot intersect average variable cost curve, because
(1) There difference is equal to average fixed cost
(2) Average fixed cost cannot be zero
(3) Both (1) and (2)
(4) None of the above
SN T RIS o S RIS TAEIT Ieb ol Sireds TE B wewa, i -
(1) T &= g Rex @G P TR 8
(2) ofraa Re” @F I e 81 @t
(3) (1) ¥R (2) A
(4) ST H |/ B AT

UG-EE-June, 2024/(Economics-4 Yr.)(SET-W(B) | P.T. O.
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98. At what point does SMC curve intersect SAC curve ?
(1) At the minimum of SAC
(2) At the minimum of SMC
(3) At the maximum of SAC
(4) None of the above
SMC 5 SAC b 31 bt g wx wiereder apear B 7
(1) SAC& = qx
(2) SMC & =gy g3
(3) SAC & sifrpaw g
(4) SR ¥ q 3 75

99. Whenever marginal revenue becomes negative, total revenue :

(1) Becomes maximum (2) Starts increasing

(3) Starts decreasing (4) Remains constant
mﬁmwwam%ﬁaﬁmz

(1) sii¥epa & rar 8 2) 9T g& & S
(3) gev @ ® (4) R &am 8

100. For a perfectly competitive market, price would be equivalent to -

(1) Average revenue '
(2) Marginal revenue
(3) Total revenue
(4) Both (1) and (2)
T Uia: gireddl IR $ [T, Hua axEw e
(1) sfr|d o
(2) dFiq e
(3) T T
(4) (1) 3 (2) {t
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1. What happens to MU when TU is maximum and constant ?

(1) MU become Zero (2) MU become negative

(3) MU declines (4) MU remains same

SI9 TU Siftrepas X Rek & 8, @ MU &t &m & ® 7
(1) MU g9 &1 ST & _ (2) MU =vIcqHep & AT @
(3) MU "=t 8 (4) MU T& T&ar &

2. What causes rightward shift in the demand curve ?
(1) Fall in the price of the good
(2) Fall in the price of substitute good
(3) Fall in the price of complementary good
(4) Both (2) and (3)
ANT T3 H T8 SR I&AE Bl T HIROT B 7
(1) axg & HHa d§ FREe
(2) TG g&] @l HiHd 7 FREe
(3) b TEI H HEd F FREe
(4) (2) 3T (3) QT

3. A consumer consume only two goods. If price of one of the goods falls, the
indifference curve :

(1) Shifts upwards

(2) Shifts downwards
(3) Can shift both upwards or downwords
(4) Does not shift

@wm%qm%qig@mmm%lqﬁm@aﬁﬁm
AR B, O Serd=ar asp - |

(1) SR &N AR Rggepar &

(2) = #H I Ragewar 2

(3) X I1 A= IFT IR Rags GFar ©
4) Raeemar &t &

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C) P.T.O. -




4. Which of the following can be referred to as 'point of satiety' ?
(1) Marginal Utility is negative (2) Marginal utility is zero
(3) Total Utility is rising (4) Total utility is falling
Wﬁﬁm‘ﬁ@ﬁﬁ’wmm%?
(1) SHiq STfar skomers (2) dmiq ITANFET I 8

(3) BT STAFET T IS D (4) ot ST 7T W T
5. Slope of budget line is :

(1) Px/Py ' (2) Py/Px

(3) MRS (4) Px.Py

ISE &N BT AT © -

(1) Px/Py - (2) Py/Px

(3) MRS ‘ (4) Px.Py

6. Which curve represent all the combination of two goods that give the same satisfaction
to consumer ?

(1) Indifference curve ~ (2) Philips curve '

(3) Demand curve : (4) More than one of the above

HIF-ET Toh AT TS & Il A @l QI B, S ITHEKT H GHM Hfe

TFE 7 : '

(1) ISTHEAAT ah (2) Tlera asp

(3) °1°T a6 (4) ST 7 & usp § affeep
7. Who was major protagonist of utilitarianism ?

(1) John Start Mill (2) Thomas Hobbes

(3) Karl Marx (4) Adam Smith

SURTETE 6T TE qHLE B AT 7

(1) oI =@ fe (2) ofF| B

(3) Wt AR B 4) Tew Rever
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8.

10.

‘A consumer buying behaviour is influenced by :

(1) Cultural and Social Factors (2) Personal Factors
(3) Awvailability of Product, (4) All of the above
STHERT GO BT Fr=fafad 9 gwifaa &ar @ -
(1) 9EpRr X M HRbH  (2) AR HReb
(3) S H IJqaAr (4) SUeRT |

The essence of th¢ law of diminishing'retum is :
(1) Inelastic Production

(2) Negative Marginal Production- '

(3) Declining Total Production

(4) Declining Average Production

ged gfoed & fFaw @ | 7

(1) A= I9EA

(2) TS AT IAEA

(3) @edT AT HA IdEA

(4) @TTT I AT I

Which of the below is a cause of reduced demand ?

(1) Fall in Number of Buyers (2) Fall in Income

(3) Fall in Taste of Consumer (4) All of the above
<1 & | @9 507 § & 1 HReT B 7

(1) @iert %t d@e § frEe @) o # e
(3) ITAFRT & @' T FrREe (4) SURT |

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C)
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11. NI = Domestic Income, when : .
(1) Net Factor Income from abroad (NFIA) is positive
(2) NFIA is negative
(3) NFIA is zero

(4) None of the above
NI =g o, w7

(1) 19321 ¥ s e S (NFIA) HhRIeTeh &)
(2) NFIA Seprreqss oy

(3) NFIA g1 2 -

(4) ST F § FE 75

12. Value of output is equal to :
(1) Sales + Change in Stock (2) Sales + Closing Stock

(3) Sales + Opening Stock
SSEYE H Jed axET §
(1) R+ =16 & afReds (2) RS+ T w2t
(3) RrEhl + TP =i (4) Font — amfares Sl

(4) Sales— Opening Stock

13. Net National Product at factor cost is called :
(1) National Income (2) Domestic Income
(3) Personal Income (4) Private Income
HRb A U P TS IR B T
(1) T e (2) RY o=
(3) AR (4) fosTt oy
UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C)
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; 14.

15.

16.

17.

Flow of Goods & Services and factors of production across different sectors in a barter
economy is known as :

(1) Circular flow (2) Monetary Flow
(3) Real Flow (4) Capital Flow

W%ﬁma@mﬁﬁﬁwﬁﬁa@eﬁaﬁtwﬁeﬁtm%
FHRBH B U@ H FH Y H ST Ser B

(1) 9RT= yarE 2) e yare

(3) aridess ydare (4) TS0 ware

Which of the following is intermediate good ?

(1) Machine | (2) Car

(3) Mobile (4) Sugarcane in a sugarmill
Fr=fefd o | @ geaddt avg 7

(1) =L (2) B

(3) Hras (&) R e F
Identify the stock variable :

(1) Wealth (2) Income

(3) Savings . (4) Capital formation
WIh aX P ggaT B< ¢ .

(1) &= | ) o=

(3) == (4) TN Fmtor

Which of the following item not be included while calculating national income by
income method ?

(1) Wages and Salaries (2) Royalty
(3) Scholarship (4) Profit

T A g/ U S & OTOET Bd 99y MeEieiiag § 9 RBre owe @
e 787 fhar s=r =nfew ? :

(1) Fo1gdt 8iX aavf (2) I
(3) sEgRt (4) &

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C) P.T.O.



18. The main difference between GDP and GNP is :
(1) Capital Gains (2) Transfer Payments

(3) Net foreign income from abroad (4) More than one of the above
ST ol Sfioad & e g&g o= © ¢

(1) IS & (2) BEIT AT

(3) RRw & g= RRsh e - (4) SUdE H q TF | D

19. If we deduct depreciation from GNP the measures of aggregate income that we obtain
is called :

(1) Gross Domestic product at market prices

(2) Gross Domestic Product

(3) Net National Product

(4) Personal Income

IR &N SeTq ¥ JEd Hen §, ﬁrgﬁﬁraﬁaﬂqmaﬁr% Y FEd B
(1) 99X g9 U)X gehel M I

(2) |heT B ITTE

3) I= T IR

(4) AT A=
20. Which organisation is accountable for calculating the Gross Domestic Product of India ?
(1) Indian Statistical Institute (2) Reserve Bank of India
(3) National Statistical Office (4) Ministry of Commerce and Industry
ART & Fha TG IAE B TOFT & Y HH-81 Fed IUEr 8 7
(1) AT it deam S () I Rerd &6
(3) Ui gt s (4) TP Td IERT /AH
21. Pick out the direct taxes combination from the following :
(1) Wealth tax and excise duty (2) Service tax and excise duty
(3) Income tax and service tax (4) Income tax and wealth tax
Frefaiad & & godel B3 A G g
(1) =91 #T AR I b (2) ¥a1 X IR IR Yeoh o
(3) ST SR |l &Y (4) SR ofR HulRy
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22. As per Union Budget 2021- 22, Fiscal deficit is estimated at - pe;ccnt of GDP in 2021-22 :
(1) 5.1 (2) 7.6
(3) 6.82 @) 7.2
SHE SOTE 2021-22 F STYAR, 2021-22 F ToRHGE €IET FHA WG, IR FH
gfererd STgAIT B - |
(1) 5.1 () 7.6
(3) 6.82 4) 7.2
23. Among the following options, which of these is a capital receipt ?
(1) Tax received (2) Dividend received
(3) Disinvestment (4) External grants
FrfRae fopedt & @ e Sofir wiy & 7
(1) 9<T &Y : (2) UT=T SATHIST
(3) fafasr @) TR AT
24, What does the fiscal deficit relate to under the government budget ?
(1) Taxes shortfall (2) Disinvestment shortfall
(3) Borrowings requirement (4) Disinvestment requirement
R goTe & ST<Td USThiig arer fhad defte & 7
(1) B3 & | (2) fflde § &
(3) TUR & STEITHAT (4) fFafrast & smasTear
25. The measures taken using the government budget can impact :

(1) Resource allocation (2) Inequalities

(3) Inflation (4) All of the above

AIHR FoTe Bl IR H3h [PT TT IURT &7 9 IS Gehall 8 -
(2) STEHTATS

(1) §91997 Aged
(3) garepifa | (4) ST T
' P.T.O.
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26. The concept of five-year plans in the constitution of India is borrowed from ........... :

(1) Russia (2) England
(3) The United States (4) Germany
ARG & diauE § deadi Goel @ sEaRen ... ® IYR & T3 2 |
(1) =§ (2) gl
(3) |93 =T @i (4) STH=T
27. Golden Revolution is related to ........... .
(1) Precious minerals . (2) Pulses
(3) Jute : (4) Horticulture and Honey .
ot wifer Gy ... T |
(1) sggea @ - (2) ard
(3) S[E ' (4) PTG SR SR

28. Where is Central Agriculture University situated ?

(1) Manipur (2) West Bengal (3) Andhra Pradesh (4) Uttar Pradesh

HEg Hy gt wer Raa ® 7

(1) AfgR (2) 9id=H &M (3) T U=ST (4) IAX HU=9T
29, India's economic planning cannot be said to be :

(1) Indicative (2) Imperative (3) Limited (4) Democratic

AR & s AT I 78T Hel S Fehal & - |

(1) @ipfeaes  ~ (2) SAFEE (3) | - (4) iR
30. The forth five year plan had begun in the year ............. . ,

(1) 1969 (2) 1966 (3) 1962 (4) 1973

et deadty AT v ... T 9w g8 ol

(1) 1969 (2) 1966 (3) 1962 (4) 1973

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C)



31. Scope of Public Finance includes :

(1) Voluntary debt (2) Compulsory debt

(3) Internal debt (4) External debt

qrEste g & gER H e ©

(1) WiEss o (2) tfrEr ot

(3) TARe =T (4) STl =T
32. Gift tax was introduced in the year :

(1) 1958 (2) 1959

(3) 1960 (4) 1961

SR &Y fpg ad a1 fhar T o ?

(1) 1958 | (2) 1959

(3) 1960 | | (4) 1961

33. When expenditure exceeds total tax revenue, it is called :

(1) Surplus budget (2) Balanced budget

(3) Deficit budget .(4) None of these

S &g B B AT § AfUF BT &, AT 39 HeT T B

(1) SATIY FoTe (2) EgfaaT sTe

(3) =1e & ore 4) 9 | 3 7
34. The Wanchoo Committee (1971) probed into :

(1) Direct taxes (2) Indirect taxes

(3) Agricultural holding tax ' (4) Non-tax revenue

arg |afafr (1971) 3 S &

(1) Ige&r &< (2) STITE T

(3) P ST BT (4) IR-HT oI

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C) P.T. O.
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35. The Indian income tax is :

36.

- 37.

38.

(1) Direct and proportional (2) Indirect and proportional
(3) Indirect and progressive (4) Direct and pr'ogre.ssive
AT AR & -

(1) S R ST (2) s S SR
(3) St X s (4) merer AR RS

The revenue of the State Government is raised from the following sources except one,
which is that ?

(1) Land revenue (2) Agricultural income tax

(3) Entertainment tax (4) Expenditure tax )

T PR BT o FreAfemed A ¥ gerdr o ¥, R o &, o a8 ¥ 7
(1) 9F o= (2) Y MTHT ’
(3) AARST &Y (4) =a &Y

At what point the primary deficit under the government budget tends to be zero ?
(1) When the revenue deficit tends to be zero

(2) When the net interest payment is zero

(3) Fiscal deficit = Interest payment

(4) Zero fiscal deficit

fpe farg OX G dSTe & ded WA °1eT I 8 S ® 7

(1) ST oG el S 8 ST 8

(2) 19 g AT P LA B S ©

(3) TISTRINI ETeT = AT Y

(4) I ST =TT

The borrowings under the government budget constitute :
(1). Revenue deficit (2) Primary deficit (3) Taxes deficit

HIH o & ded SYT @ TS ol 8 -
(1) Torg grer (2) urafEes 'Jrer (3) X O|TeT (4) TSI =T

(4) Fiscal deficit

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C)



39. Name the process wherein the government sells its securities to private owners :

(1) Monetary expansion ' (2) Disinvestment

(3) Both (1) and (2) 4) None‘ofthese _

SE SR @ AW ST REd SR ol sReRdl @ Pl R @
AL B

(1) Afp R (2) fafdr

(3) (1) I (2) @it | (4) it & g T

40. . Fiscal deficit refers to :
(1) Primary deficit — interest payments
(2) Aggregate budget expenditure — aggregate budget receipts
(3) Primary deficit + interest payments
(4) None of these
TR "1 § aedd ©
(1) grafes =rer — = I
(2) 99 S5ic I — gAY g9l g1l
(3) STfFer |reT + SIS YA
(@) 57 & Fg 7

41. Correlation indicates what kind of relationship between two variables ?

(1) Positive (2) Negative

“(3) No relationship | (4) All of the above
gedsy 1 93 & 919 Be dxE B de @ guir & 7
(1) ¥ S (2) TERTHD

(3) ®E day FEt (4) SUAFT T

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C) P.T. O.
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42,

43.

44,

Why does the value of correlation range from—1to 17?
(1) To indicate the direction of correlation

(2) To indicate the strength of correlation

(3) Both (1) and (2)

(4) None

TEHLT B A -1q 1 o T o § 7

(1) Fedse = Rew % fg w3 R

(2) |EHEy # qpa B P FE $ Rig

(3) (1) 3X (2)

4) ®F &

Which method is used by Karl Pearson's coefficient for correlation ?

(1) Covariance method (2) Spearman's rank correlation
(3) Product moment method (4) None of the above

HeHdg & e et e & 3o arr fhe Rify %1 SugrT fear e © 7
(1) Tegaxer fafy (2) WA H1 ¥6 Fedey

(3) e o Rty | (4) STl § F B 7

What is the purpose of constructing index numbers ?

(1) To compare values (2) To measure changes in values
(3) Both (1) and (2) | (4) None |

Yhich HEAT T BT ILeF FT® ?

(1) &gt &6t GarAr & (2) gea) 7 afad= @1 "qran
(3) (1) &% (2) AT (4) =13 7€

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C)



45.

46.

47.

48.

Which type of average is best to construct an index number ?

(1) Arithmetic mean (2) Harmonic mean

(3) Geometric mean (4) All of the above

geEhieh |l a9 @ e 6 g ofaa |ad of=st ¥ 7
(1) Sfpfercie #red . - (2) i AT

(3) sAtERiE Aremw (4) ST TR

Index number plays an important role in the field of ........... ?

(1) Economic and Science (2) Economic and education
(3) Economic and business (4) Economic and intelligence
gehich TE&AT ........... & &= H Hewyer gt fFEwh 8 7

(1) sl SR fAs= (2) arefsmes INT fared

(3) SreieeE SR FTEE™ (4) Srefmes IR gheH<n
Circular test an extension of ................ .

(1) Unit test (2) Circular test )
(3) Time reversal test (4) Factor reversal test
TR TUETT i H R B

(1) 3H1E Thero (2) geERIT qEeroT

(3) 99T ISHHYT J&IT (4) RSB ISHAOT THET0T

The adjusted frequency for class interval 15-25 will be :

(1) 2 2h &

(3)3 (4) More than one of the above
T A=A 15-25 % AT FHESTT gy 8rm e

()2 (2) 5

(3) 3 | : (4)@‘&%1‘4‘@@_%3@25

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C)
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49,

50.

51.

52.

The weighted system changes with .......... .

(1) Quarter (2) Year (3) Time (4) None

AR JOTRAT ..o ® WY FE g7

ORGLIG (2) a9 3) g93 (4) Mg et

The Karl- Pearson's coefficient of correlation method of measuring correlation is :
(1) Graphic (2) Mathematical (3) Positional (4) None of the above
TEHIT A4 FH FHd-Rgds ) qeddy QY 5 QAN o

(1) =ftee () TRrE

(3) Rferr (4) SUAFRT H q g T

A production function states that there exists a technical relationship between :

(1) Input prices and output prices

(2) Input prices and quantity of output

(3) The quantity of inputs and the quantity of output

(4) The quantity of inputs and input pricés ‘

T IEHT B IdraT 8 Freffaa @ S s e |9y Ao @
(1) 79T ToF AR 9 e

(2) 792 o9 SR Mgy HT A

(3) Y W AET AR ITSLYE A=

(4) gge @ T SR FYE TH

When average product decreases, the marginal product is always :

(1) Greater than average product (2) Less than average product

(3) Increasing (4) Decreasing

oTg ofred ScE gedr B, 1 HiHid IS gHL BN @
(1) ofrad sarE & i 2) ofrra I A FA

(3) =g g (4) s g

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C)
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)
53. Whenever marginal product is less than average product, the average product must be :

(1) Rising (2) Falling
(3) Equal to marginal product (4) None of the above

STe 9 AT Iare oiad S ¥ wF BT 8, O ofa Idrg T =Ry
(1) Sear g3 & (2) Frar gam |

(3) 9Hiq IM@E F SET (4) SUURT | | B3 ALK

'54. Whenever MP falls and is positive, TP changes at what rate :
(1) TP rises at increasing rate
(2) TP rises at diminishing rate
(3) TP decreases after reaching its maximum

(4) None of the above
ST | MP FRar 8 ofiR 9&riess 8iar 8, af TP fhd &X § gaarar & ?

(1) TP Fg<it aX § =ar 8
(2) TP gedl &X @ godr &
(3) TP S99 HiwHaH 9T Uga & 1% gedr &
(4) I90ad H 4§ Pis &l

55. What happens to ATC when marginal cost is greater than ATC ?
(1) ATC rises (2) ATC falls
(3) Slope of ATC becomes constant (4) None of the above
o9 HHid AT ATC § 31faeh 8t 8, O ATC & a=r 8ier 8 2
(1) ATC ggar @ (2) ATC P %
(3) ATCHI a9 ReX &I ST & (4) S ¥ @ Fg 8%

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C) P.T.O.
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56. At any given point of output, the difference between total cost and total fixed cost is :

(1) Equal to marginal cost (2) Equal to average variable cost

(3) Zero in the short run (4) Total variable cost :
W%ﬁﬂﬂﬂﬂﬁqwﬁg'qt,aﬁmaeﬁ?aﬁﬁﬁm%aﬁaw-
X B :

(1) | ara & S3ER (2) o uREca @FT & SRTET
(3)ém1aﬁrﬁsﬁ (4) HT gRGHE AT

57. Average total cost curve cannot intersect average variable cost curve, because :

(1) There difference is equal to average fixed cost

(2) Average fixed cost cannot be zero

(3) Both (1) and (2)

(4) None of the above .

ST g T A AR GRER T o @ SRR T e T, i
(1) g8 T<I¢ ArEd ReR) @vg & S« &

(2) Iraa ReR AFrT g ST &1 dehelt

(3) (1) & (2) QT

(4) ST F | B T

58. At what point does SMC curve intersect SAC curve ?

(1) Atthe minimum of SAC (2) At the minimum of SMC
(3) At the maximum of SAC (4) None of the ai)ove

SMC @ SAC a6 @& ford forg ¥ uftredw &ear & 2

(1) SAC& =IAaH 9T (2) SMC & =9 94X

(3) SAC & affeahas 9¥ (4) STURT F § g 87

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C)
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60.

61.

62.

Whenever marginal revenue becomes negative, total revenue :
(1) Becomes maximum (2) Starts increasing
(3) Starts decreasing (4) Remains constant
mﬁ@ﬁawmé‘rw%ﬁr@awz

(1) S1i¥repe & wirar © (2) ST gE B AT

(3) g @ IaT @ (4) Rex B ®

For a perfectly competitive market, price would be equivalent to :

(1) Average revenue (2) Marginal revenue

(3) Total revenue (4) Both (1) and (2)
Th QuUic: TRt IR & fg, @ sEs Rl

(1) fraa o= | (2) dHia e
(3) B T (4) (1) 37X (2) TT

The term "data" came from the Latin root term :

(1) Detem (2) Datam (3) Datum (4) Data

o "data" A TA = F o B
(1) Detem (2) Datam (3) Datum (4) Data

Two types of research data include :

(1) Recognised and unrecognised data

(2) Structured and unstructured data

(3) Qualitative and quantitative data

(4) Organised and processed data

YT 3T P U YHR T -

(1) F=ar 9t iR AR-AT=gar a1 ST
(2) EXf¥a IR el e

(3) ToTHS X AEHE SeT

(4) e iR demfe et

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C)
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63. Which one is the frue example of primary data from the following options ?

(1) Journal (2) Book

(3) Census Report (4) Newspaper

P Redt & & srafes e 1 @ef Saee B-ar & 7
(1) S¥iat (2) g |

(3) SO RAE (4) FHER

64. What is it called when the data is sourced from the place of origin ?

(1) Secondary : (2) Primary .
(3) Secondary and Primary" (4) All of the above
STH T g9 W {9y S B, o 3§ A er o © 7
(1) AT '(2) wmafE
(3) \TEAHE AR UTAE (4) ST, THI
65. What is it called when the data source is gathered and compiled with others ?
(1) Primary data (2) Quantitative data
(3) Secondary data ' (4) None of the above
STq 2eT QI B CHRT e AT & o) el fRAT S B ST g T F
el ST 8 7
(1) orafaes e (2) HAETES 30
(3) facias S (4) STUFT # | IS Tl

66. What comes right before the formulation of the hypothesis in the research ?
" (1) Collection of data (2) Analysis of data

(3) Selection of the tools of research  (4) Statement of objectives

aﬁaﬁqﬁmm%ﬁﬂh@feﬁtﬁqe%waw%?

(1) 32T & EUB (2) 1 &1 fagyor

(3) 9T & JUHION BT TG (4) IELET BT FHeH
UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C)
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67. The value of the mode of the set of observations: 5, 8, 8, 16, 24, 24, 30, 16, and 24 is :
(1) 24

2) 30
3) 16 (4) 08 | |
Wl D WHE D agww w1 4w ¢S, 8, 8, 16, 24, 24, 30, 16 9724 T
(1) 24 | ) 30
(3) 16 (4) 08

68. When two variables are related in such a way that one increases so does the other, you
can conclude that : 4 '

(1) There is no problem with directionally
(2) The two variables are positive associated
(3) There are no latent variables affecting the relationship

(4) There is a third variable responsible for the causation between them

S A TR 3H GXE ¥ e A ¥ R us wear ® v qE@w o sear 8, ar
39 I8 =py e & © fp -

(1) Remas w9 § HE g 78 8

(2) AT =X FHRER T QA G2 gW T

(3) €Y I gAIAT H Ay PE ST G T8 T
(4) S 99 FE-BFRY F R/ RER o 9 97 2

69. Choose the correct option regarding the sampling method :
(1) E-sample is the population's part
(2) It helps in determining sampling error _
(3) Sampling saves money, time, and energy
(4) All these options are correct
AR Ay & AR § HF-a1 Ao @9 g@ R v
(1) A1 SeEn @ Bar @
(2) T TgATERRer e MEiRa HA H Heg & ®
(3) AT A 9T, THI ST Seil H F=e B

| (4) A 7 forpeq TE B
 UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C) P.T.O.
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70. One of the members of the population is known as the :

(1) Data (2) Family
(3) Element (4) Group
SHEET $ gl # 9 U @Bl el Sar 8 o
(1) Ser (2) 9RE
3) ) T

71.  Perfect competition is a form of market in which there are :
(1) A few firms producing identical goods
(2) Many firms producing differentiated goods
(3) A few firms producing goods that differ somewhat in quality
~ (4) Many firms producing identical good _
(1) T IEGSTT Bl IeIEA FIT AT HB B
(2) R axgsil &1 IR HA AR HS HH
(3) BB HH TH FEIAT A1 IQEA HIT & S Jorar # Ho ST BT 8
(4) GE g&IAT H ICRA HIA AT By BH

72. How does AR Curve under perfectly competitive market Looks Like ?

(1) Downward slopping
(2) Straight line parallel to X-axis
(3) Upward sloping
(4) Straight line parallel to Y-axis
goic: gfeasdl oo & ded AR ash har Rear 8 7
(1) s & SR A AT
(2) X-3187 & THMIAY i Y@
(3) HIX FH SN TAM aTT
(4) Y-3787 & GHFEET et @

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C)




74.

75.

Patent is :

(1) A guarantee of quality of consumers

(2) An exclusive right to an inventor of a product

(3) A control over some unique source

(4) None of the above

(1) SYAERTSA 3 IOTEsT FH M

(2) fpET ST F TAHRS H UH AT AABR
(3) foell ovgd | oX foefEror |
(4) ST & ¥ N T

AR and MR curves are downward slopping under :

(1) Monopoly (2) Monopolistic Competition
(3) Perfect Competition (4) Both (1) and (2)

AR X MR @5 91 &I X &9 a1 e & :

(1) goprferepT (2) TehTiEehk IferAReT

(3) gt ufrRET @) (1) SR (2) EAT

Which of the following could be the characteristic of an oligopoly market ?

(1) A few firms | (2) High barriers to entry

(3) Price rigidity (4) All of the above

g § § @9-9 TF STe9IEehk S & fIwar 8wt 8 7
(1) BB B (2) uasr 7 I=

(3) I=g TRl (4) IUART G

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C)
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76. A price ceiling is :
(i) A minimum price that a firm may charge for a good or service
(2) Usually established by'ihe manufacturer of a product
(3) The maximum price that a firm may charge for a good or service
(4) None of the above
s GRS L
(1) =g T S A e Peel g a dn & R & w1
(Z)WWWW%WQIT%WWW%
(%aﬁwwﬁraﬁiﬁﬁ?@aﬁmW%m%Hﬁ%
(4) STAFT H F HE TS

77. Which market form there are restrictions on the entry of new firms ?

(1) Monopoly ~ (2) Perfect Competition
(3) Monopolistic Competition (4) Oligopoly
mwmﬁﬂiﬁ%nﬁmwnﬁaa%?

(1) wemfErs (@ of afeRnfa

(3) WehITdeRT Mo (4) STTANHR

78. Which one is rot normally possible in case of monopoly ?

(1) MC =MR - (2) AC=AR

(3) MR=AR (4) More than one of the above
TR & HES H - G w9 @ 69T 787 ' 7

(1) MC=MR (2) AC=AR

(3) MR = AR (4) ST H € TH § Al

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C)
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79. From the resources allocation point of view, perfect competition is preferable, because :

(1) The firm operates at excess capécity
(2) There is no idle capacity

' (3) There is whole variety of output
(4) Free entry and exit of firms |
HEYT ST B gRear q, gﬁqﬁm&?éﬁ% i :
(1) & AT amem o= & et ’ |
(2) g FftwT emar 78t ©
(3) eTaTye @ g fafaemr &
(4) ®H1 & @ g3 AR P

80. The monopolistic firm will be in equilibrium, where :

(1) Price = Marginal Cost (2) Marginal Revenue = Marginal Cost
(3) MR =MC = Price (4) None of the above

THITHR FF Hge # Erf, e

(1) ufshar = dHid ArTT - (2) EHIG e = SiFid ArTd

(3) MR=MC =944 (4) SUAFRT H q HE B

81. What is the full form of NITI Aayog ?
(1) National Institute to Transform India
(2) National Institute for Transforming India
(3) National Institution to Transform India
(4) National Institution for Transforming India
AT SAEFT BT YT AT R E 7
(1) Aea $Erege g sraw g
(2) A EEIEIT B SiEHiET gfean
(3) Ay I T giawiH g
(4) AT ST BR TEHIHT gear

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C) P.T.O.




24

82.

83.

84.

85.

Which one of the following was the objective of 12th five year plan of India ?
(1) Faster and Inclusive growth

(2) Faster quick and reliable inclusive growth
(3) Faster reliable and more inclusive growth

(4) Faster sustainable and more inclusive growth

Prafafag & @ S=-ar wRa & 1287 Jeadtg Gerr & Je9d o ?
(1) 57 3 gurash e

(2) A IR fasaeia wAReh

(3) a5 % Freggig v sifus Tarsh R

(4) A9 AR e o Ifes gaE@sh R

The second five year plan laid more stress on :

(1) Industrialization (2) Removing Poverty
(3) Self - Reliance (4) Agriculture

e deadE g # offtes SR Rar T

(1) sNerfesoT R (2) TN BT

(3) ATHEFTHET (4) Hiw

Globalization of Indian Economy means :

(1) Increasing External borrowing

(2) Larger FDI

(3) Import Substitution

(4) Minimum posSible restrictions on economic relation with other countries
A oreieqaer @ defiYer & o ©

(1) ssd IuR | g

(2) EsTFDI

(3) ST gfereTd—T

(4) o7 2 F @ A el UX AT F e

National development council was set up in:

(1) 1948 (2) 1949 (3) 1951 (4) 1952
TEr forehrd GREE @ TR W TR el c
(1) 1948 - (2) 1949 (3) 1951 (4) 1952

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C)
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86. In which sector the public sector is most dominant 2

(1) Transport (2) Steel Production
(3) Financial Institution (4) Commercial Banking
o & o Wi 8 wad arfre o B 7
(1) aiRae (2) eI IATEA
(3) R e (4) e ST
87. In Economics production means :
(1) Farming (2) Manufacturing (3) Creating Utility (4) Making
AU H IreT sgHET e T
(1) iy (2) fafemtor (3) SYARET AT (4) AT
88. Number of individuals those die in a population in a given period of five is called :
(1) Mortality rate ~ (2) Population density
(3) Birth rate (4) None of these . _
fepdl STeen o diE gut F ofaly H WA i AfRTar @t ST il wEl S § -
(1) 99 =X (2) SHEEAT g ™ '
(3) 7 = 4) 7 & P 7=
'89. As per the 2011 census literacy rate in India was :
(1) 94% (2) 74.04% (3) 88.8% (4) 100%
2011 &Y SEIOMET & STIAR ARG H ARERET &< & ¢
(1) 94% (2) 74.04% (3) 88.8% (4) 100%

90. India's unemployment is estimated by :

(1) Finance Ministry (2) RBI
(3) NSSO (4) 1SO
ARG & AASTIY & STIAM [FHS a1 TET S & 2
(1) o H=me g | (2) RBI
(3) NSSO (4) ISO

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C) P.T.O.
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91.

92.

93.

UG-EE-June, 2024/(Ec0nomics-4 Yr.)(SET-Y)/(C)

What is the primary function of a central bank ?

(1) Issuing stock . (2) Managing Foreign Exchange
(3) Regulating the Money Supply (4) Providing insurance

S Y5 bt SRS o ¥ 7 |

(1) sl i (2) foRsft gaT @ T

(3)@%@&%%%?1%%' (4) ST e BT

Which of the following is considered a liability for a bank ?

(1) Loans given | (2) Deposits

(3) Treasury bond (4) Real Estate
Prefefem & & 5 8 & R aftier T ST B 7
(1) &= 7= =wor (2) ST

(3) 2ot it (@) o R

The term "Money Supply" relates to :

(1) Overall money held by the general public over a specified period of time
(2) The total vélume of money held by the public at a particular point in time
(3) The total amount of money that the government possesses |

(4) Both (1) and (2)

“rer STgft” g fopt @ eifed ®

(1) P Fiffse ofafyr & S ST BRI @ W HA T
(2)ﬁ5ﬁrﬁrﬁquawmr@mma%a3—dw

(3) TXHR & g A o B FA WA

@) (1) et (2) S




94. The amount of money in [ngiqy is controlled by ?

- 5.

96.

(1) Planning Commissjop

(2) Commercial Banks
(3) Government of India

Commercial banks create money in the following ways :
(1) Issuing currency

(2) Creation of bank deposits
(3) Neither (1) nor (2)
(4) Both (1) and (2)

(3) 7 Ar(l) AR T &(Q)
(4) (1) 3T (2) =¥

Which of the statements below is true ?

(1) M3 is the most liquid money supply measure
(2) M2 is the most liquid money supply measure
(3) M1 is the most liquid money supply measure
(4) All of the statements are true

T fRu Tw et # B g R 7
(1) M3 q=q o1ftrs oxa gaT gk SUE &

() M2 @ afes e AT oY SuE ©

(3) M1 wed it X g1 STl 39 &
4) |93l Ty 9 ©

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C)
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97. Which of the following is the closest to the money ?

(1) Securities (2) Bonds

(3) Insurance policy (4) All of these
Frfafea & @ F9-ar o9 & qaq w9 & 7

(1) wiersiferat OEIS

(3) AT diferen 4) & @

98.  Which of the following statements is #rue of SLR ?
(1) It is to be maintained by all Financial Institutions
(2) Tt is to be maintained as liquid assets
(3) These need to be kept in non-cash form
(4) All of the above
Frefefad & & @F-ar #o SLR 3 aX § g7 § ?
(1) 38 |7 o St 8 99 <@t &AT 8
(2) 38 O aX@ 99T & ®9 § g9 @7 ST 8
3) € IRTH& wU A @ ST AR

(4) SUTerT af

99. Which of the following rules do not apply to banking companies ?
(1) Companies Act (2) Banking Regulation Act
(3) Reserve Bank of India Act (4) All of the above
=i & | @F-81 Fam ST watEt v arr 72 Sar 7
(1) &o=1 et (2) ST R sty

(3) AT Red & sfafag (4) SURT 9y

100. Current CRR rate in India is (May 2024) :

(1) 5.0 (2) 4.2 (3) 4.5 4) 3.5
9Ra & aaq CRR 8X (H£2024) ® :
(1) 5.0 (2) 4.2 (3) 4.5 4) 3.5

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(C)
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What is the full form of NITI Aayog ?

(1) National Institute to Transform India

(2) National Institute for Transforming India
(3) National Institution to Transform India

(4) National Institution for Transforming India
Ay STERT T G AT R B 7

(1) A9 SEIge T T gfear

(2) A FEIEGE B TiEHiT SfEar
(3) A TG € wiEwH gfean

(4) A &I B e S

Which one of the following was the objective of 12th five year plan of India ?
(1) Fasfer and Inclusive growth

(2) Faster quick and reliable inclusive growth

(3) Faster reliable and more inclusive growth

(4) Faster sustainable and more inclusive growth
Frfafaa 3 | $HiF-ar =T &t 1248 doedta Qe @ See or ?
(1) a1 X gaEsh e

(2) a7 X fagaaig gHash o™

(3) d91 IR fagaag X <Ifs guEsh fenrg

4) AT AR feprs R eifts gumash fwm

The second five year plan laid more stress on :

(1) Industrialization (2) Removing Poverty

(3) Self - Reliance : (4) Agriculture
qerdl deadE AT & o ST AT T
(1) sTr=mRfesToT (2) O e
(3) STeArTRaT (4) Py

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D)
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4. Globalization of Indian Economy means :
(1) Increasing External borrowing
(2) Larger FDI
(3) Import Substitution

(4) Minimum possible restrictions on economic relation with other countries
AeA arferaee & edfiwier & oo B o

(1) sedt SuX # ghg

(2) S=STFDI

(3) AT ufemas |

(4) o9 |W & Ay onffer Feedt gX gATH TG qfaE

5. National development council was set up in :

(1) 1948 (2) 1949 (3) 1951 (4) 1952
TS e aftus &1 g @t 18 ot - |
(1) 1948 (2) 1949 (3) 1951 (4) 1952

6. In which sector the public sector is most dominant ?

(1) Transport (2) Steel Production

(3) Financial Institution (4) Commercial Banking

fpa &= # qdete a9 §a9 o1y e 8 7

(1) afEs (2) 3T I@EH

(3) i e (4) Tiegs e
7. In Economics production means :

(1) Farming (2) Manufacturing

(3) Creating Utility (4) Making

arefmesr & Icared s ot B o

(1) @it (2) Rafmfor

(3) ITAREAr F9=T L (4) I

UG-EE-June,' 2024/(Economics-4 Yr.)(SET-Y)/(D)



8. Number of individuals those die in a population in a given period of five is called :

(1) Mortality rate (2) Population density
(3) Birth rate (4) None of these
fohel SereEar & dfg gt @ SEfY # 93T g afdt @ G @ wer A 8
(1) 99 =X | (2) SHEET ¥
(3) o «X (4) 57 & B T
9. Asperthe 2011 census literacy rate in India was :
(1) 94% (2) 74.04% (3) 88.8% 4) 100%
2011 FY STRTOFT & ATER ARG H €eRar a¥ o ¢
(1) 94% (2) 74.04% (3) 88.8% (4) 100%

10. India's unemployment is estimated by :

(1) Finance Ministry (2) RBI
(3) NSSO | (4) 1SO
IRA & IS T eﬂtﬂ?f foheeh Err @Imar Siar g 7
(1) o H=e (2) RBI
(3) NSSO (4) 1SO

11. A production. function states that there exists a technical relationship.between :
(1) Input prices and output prices '
(2) Input prices and quantity of output |
(3) The quaﬁlity of inputs and the quantity of output
(4) The quantity of inputs and input prices
T IAEA B qarn & fF e & S o aee @96y Ao B
(1) 37YE TF AR SIS T
(2) 39T goI X STSeyge &l AT
(3) 319 & HET S H&@ege A AT
(4) g2 M AT AN §IgE I

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D) ‘ P.T. O.



12. When average product decreases, the marginal product is always :

(1) Greater than average product (2) Less than average product

(3) Increasing (4) Decreasing

9 SEd IR Tedr B, O 9 Sg g9 el 8

(1) 3frea S § s 2) fraa SaE |§ HH
(3) Jgar gam (4) wear g3l

13. Whenever marginal product is less than average product, the average product must be :

(1) Rising (2) Falling
(3) Equal to marginal product (4) None of the above
Wﬁ%m%m%w%%fﬁaﬂﬂﬁwmmr
(1) Jgar gem (2) Frem gar

(3) HIHIT IWE F IET (4) IGUHRT & q HIg 81

14. Whenever MP falls and is positive, TP changes at what rate :

(1) TP rises at increasing rate
(2) TP rises at diminishing rate
(3) TP decreases after reaching its maximum
(4) None of the above
g ot MP fiRdT 8 SIR dahriedsh 8iar 8, o TP fh9 &X § aeaar & ?
(1) TP F&dt a3 & gl &
(2) TP ge<ft &% @ el 8
(3) TP 3797 ffyehas UX 9ga+ & 9% gear &
(4) SR F | g A€

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D)



15. What happens to ATC when marginal cost is greater than ATC ?
(1) ATC rises (2) ATC falls
(3) Slope of ATC becomes constant  (4) None of the above
S EHid arg ATC @ 31 €t 8, & ATC &1 &ar 8ikir & 7
(1) ATC i<t @ (2) ATC e &
(3) ATC 1 &M Re & ST & (4) Sl § @ & =78

16. Atany given point of output, the difference between total cost and total fixed cost is :

(1) ‘Equal to marginal cost (2) Equal to average variable cost
(3) Zero in the short run (4) Total variable cost
W%Wﬁﬁﬂﬁ@ﬂ,@maﬁaﬁﬁeﬂw%aﬁaw
| <R B
| (1)%%%&1?@? ) ohaa aREd T A & aXER
| (3) STEy # (4) T URERE AT

17. Average total cost curve cannot intersect average variable cost curve, because :
| (1) There difference is equal to average fixed cost
(2) Average fixed cost cannot be zero
(3) Both (1) and (2)
(4) None of the above '
eﬁwaﬁwwﬁﬂaqﬁaﬁamwaﬁrmﬁmw,ﬁﬁs ]
(1) g8 ST=<I¥ ofraa Re) & sREX 8
(2) T R AFT g 8T 81 dall
(3) (1) 3T (2) =T
(4) SUAFT | q HIg G
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18. At what point does SMC curve intersect SAC curve ?
| (2) At the minimum of SMC

{

(1) At the minimum of SAC

(3) At the maximum of SAC (4) None of the above

SMC @ SAC % &1 5 farg ux Hferesa el & 7

(1) SAC& =IATH X (2) SMC & =Aaq 9%

(3) SAC & tferhae ux (4) S F & B T
19. Whenever marginal revenue becomes negative, total revenue :

(D Blecomes maximum ~ (2) Starts increasing

(3) Starts decreasing . (4) Remains constant

ST 1 HHT IO HOMHE B ST B, df gl e

(1) siferepaw & iar 8 (2) ST E B AR 8

(3) Fe AT ® (4) Rk Bl B

20. For a perfectly competitive market, price would be equivalent to :

(1) Average revenue (2) Marginal revenue

(3) Total revenue (4) Both (1) and (2)

Th goId: gRreadt ST @ R, HET axER S

(1) frad Tora (2) deiT T

3) e ToTE - @) (1) $hx (2) A
21. Scope of Public Finance includes :

(1) Voluntary debt _ (2) Compulsory debt

(3) Internal debt (4) External debt |

Ao e & aR F i B

(1) QRw® =T | . (2) sifem o

(3) HARRSE =T (4) BN sROT
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22.

23.

24.

25.

Gifi tax was introduced in the year :

(1) 1958 (2) 1959
(3) 1960 (4) 1961
SueR & 63 g9 Qa1 fear war ar ?

(1) 1958 o (2) 1959
(3) 1960 (4) 1961

When expenditure exceeds total tax revenue, it is called :

(1) Surplus budget (2) Balanced budget

(3) Deficit budget (4) None of these

g T FA HE oI | 3 ar B, A 3/ BN ST ©
(1) AT so1e - (2) dgfed seie

() =12 B ToTe \ @) =99 A P 7S

The Wanchoo Committee (1971) probed into :

(1) Direct taxes (2) Indirect taxes -
(3) Agricultural holding tax (4) Non-tax rev.enhe
arg |k (1971) F S @ -

(1) gT&T AT (2) AT BT

(3) B ST BT (@) e ToTE

The Indian income tax is :

(1) Direct and proportional (2) Indirect and proportional

(3) Indirect and progressive (4) Direct and progressive
AR STEHT B

(1) 99ar &l STaTires (2) STTey X HTIITIR
(3) T™E N wIrtshier (4) gcer 3N FEfarsher

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D)
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26. The revenue of the State Government is raised from the following sources except one,
which is that ?

(1) Land revenue _ (2) Agricultural income tax

(3) Entertainment tax (4) Expenditure tax

T GBI BN AR =i At @ Serr Siar 8, REd O &, off 98 8 7
(1) iy o (2) P TIHT

(3) FARSH &< (4) =T &Y

27. At what point the primary deficit under the government budget tends to be zero ?
(1) When the revenue deficit tends to be zero
(2) When the net interest payment is zero
(3) Fiscal deficit = Interest payment
(4) Zero fiscal deficit
mﬁgmwﬁm%aﬁmwsﬁéw%?
(1) 59 Jsrg =rer 9 8 Srr 8
(2) 99 Y= AT PRI LI B ST 8
(3) TSTHINIG HTET = AT A
(4) T TSR =TeT

28. The borrowings under the government budget constitute :
(1) Revenue deficit (2) Primary deficit (3) Taxes deficit

GBI IoTe H qed IUTY &N TS Bl & ¢ |
(1) =T °IeT (2) gt eR =91l | (3) Y =T (4) TSR =TT

(4) Fiscal deficit

29. Name the process wherein the government sells its securities to private owners :

(1) Monetary expansion (2) Disinvestment

(3) Both (1) and (2) (4) None of these
wu%mmwmmﬁwamﬁuﬁrﬁ%ﬁrﬁﬁsﬂm%ﬁﬁ

o B -
(1) Az B (2) fafeasr
(3) (1) 3R (2) a1 (4) 9 | @3 T8

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D)



30. Fiscal deficit refers to :
(1) Primary deficit — interest payments
(2) Aggregatc budget expenditure — aggregatc' budget receipts
(3) Primary dcficit + interest payments
(4) None of these
TSR "y 9 arad ®
(1) wgoyeR |rer — =S YA
(2) GHY ST AT — 99T 99 gt
(3) WTATAE =TT + =T A

4) 79 & wHE T
31. What happens to MU when TU is maximum and constant ?
(1) MU becomc Zero (2) MU become negative
(3) MU declines (4) MU remains same
S TU sffepad v R @ 8, & MU &1 =7 8er & 7
(1) MU 19 &1 ST 8 : (2) MU e &l Sl @

(3) MU gear 8 (4) MU I&1 & &

32. What causes rightward shift in the demand curve ?

(1) Fall in the price of the good
(2) Fall in the price of substitute good
(3) Fall in the price of complementary good
(4) Both (2) and (3)
HhT @ § a8 ST ggaig @l T HROT 8 7
(1) a&g & &HHa d FREe
(2) WS g&] hl HEa 7 FEe
(3) GXeb a&g H A F FRmEe
(4) (2) 3T (3) T

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D)
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33. A consumer consume only two goods. If ‘price of one of the goods falls, the

indifference curve :

(1) Shifts upwards

(2) Shifts downwards

(3) Can shift both upwards or downwords
(4) Does not shift

TH IUAKI Bae & JEgell Bl ST Far 21 Rk Rrel Th g d HEA
Frelt &, & Serdiser o

(1) S B AT Rererpe B

@) | F % REwET Y

(3) T A1 A A X RawF @
(4) Reeepar =i&f B

34. lWhilch of the folllowing can be referred to as 'point of satiety' ?
(1) Marginal Utility is negative ' (2) Marginal utility is zero
(3) Total Utility is rising " (4) Total utility is falling
Prefafaa § @ B dgic Ry’ wer ST ahar B 7
(1) diq STAFET FomeS B @) ST STARET g B

(3) T IYAFET g% W B (4) FHF ISTANAET g & B
35. Slope of budget line is :

(1) Px/Py (2) Py/Px

(3) MRS (4) Px.Py

ofe J@T & & © -

(1) Px/Py (2) Py/Px

(3) MRS (4) Px.Py

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D)
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36. Which curve represent all the combination of two goods that give the same satisfaction
to consumer ?

(1) Indifference curve (2) Philips curve

(3) Demand curve (4) More than one of the above

ggw%ﬁﬁ%aﬁéﬁﬁaﬁmﬁm%ﬁrwmaﬁwﬁ@&
? e

(1) I=rHE=AT ask | (2) Tpicre a=h

(3) |17 @6 | (4) ST H q T § AP

37. Who was major protagonist of utilitarianism ?

(1) John Start Mill (2) Thomas Hobbes

" (3) Karl Marx ‘ (4) Adam Smith
SYAICAEE BT e GHefh D a1 ?
(1) o wrd fret () = gfed
(3) ehret AT , (4) TeH RE™

38. A consumer buying behaviour is influenced by :

(1) Cultural and Social Factors - (2) Personal Factofs
(3) Awvailability of Product (4) All of the above

ITfERT @O Fgerk Fekiiad @ guifaa 8ar 8 -
(1) Giepfas 3T IS Hhh (2) HfTd HRE

(3) IIE H IR (4) ITUFRT A

39. The essence of the law of diminishing return is :
(1) Inelastic Production " (2) Negative Marginal Production
(3) Declining Total Production (4) Declining Average Production
ged ufaed & U9 &1 9 ®
(1) STAERER IQEA | (2) FOTHS HHIT I
(3) TAT BAT H{T IA_A (4) TeaT 3T A IcAEA

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D) P.T. O.
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40.

41.

42,

43.

Which of the below is a cause of reduced demand ?

(1) Fall in Number of Buyers (2) Fall in Income
(3) Fallin Taste of Consumer (4) All of the above
S BN b o St ep— T 7

(1) E=TRT =7 e ¥ Prgae (2) oy § FREe
(3) STRFT B w= F e (4) SR a

What is the primary function of a central bank ?

(1) Issuing stock (2) Managing Foreign Exchange
(3) Regulating the Money Supply (4) Providing insurance

®ET Fh B g1 P g g7

(1) Sriepat s (2) st g=T @ e

(3) 31 AYRE = fafrafyg s (4) <HET 98 HIHAT

Which of the following is considered a liability for a bank ?

(1) Loans given  (2) Deposits (3) Treasury bond (4) Real Estate
Frfafaa & @ 8 8% & R afre 9T omar & 7
(1) & = =wor (2) smr (3) g5 Tis (4) ot =Ry

The term "Money Supply" relates to :
(1) Overall money held by the general public over a specified period of time

(2) The total volume of money held by the public at a particular point in time
(3) The total amount of money that the government possesses

(4) Both (1) and (2)

“HRT ofgfei” et o @ EEieE @ o

(1) Tt Ffdse ofafyr & o9 SO 8RT X U 5 o9

(2) el faRiy &7 9 ST S W@ T O @ ge 9=

(3) OB & U Hilg €9 & HA AR

(4) (1) &% (2) T

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D)



44. The amount of money in India is controlled by ?

'(I) Planning Commission - (2) Commercial Banks
(3) Government of India (4) Reserve Bank of India
IR # g9 & A has g FEla @ o 7 ?

(1) ST AT (2) =forioas e

(3) AR AR (4) 9eg R F6

45. Commercial banks create money in the following ways :
(1) Issuing currency
(2) Creation of bank deposits
(3) Neither (1) nor (2)
(4) Both (1) and (2)
FiftTiRees e Freffad dd@ 9 JaT a9 8 ¢
(1) ga1 S HAm
(2) 6 SHET H1 G
(3) T ar(l) s 7 B (2)
(4) (1) 30 (2) B

46. Which of the statements below is frue ?

(1) M3 is the most liquid money supply measure
(2) M2 is the most liquid money supply measure
(3) M1 is the most liquid money supply measure
(4) All of the statcments are true
9 Ru T wuAl § @S-G g e ?
(1) M3wﬁa®mmgma¢rgﬁaqm%
(2) M2 G980 SAfees a1 HET STgRi Iu g 8
(3) M1 T I a1 gaT SgfRi SuT B
4) gt HIT §9 B

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D) P.T. O.
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47. Which of the following is the closest to the money ?

48.

49.

' 50.

(1) Securities (2) Bonds

(3) Insurance policy (4) All of these
Frfeied & @ -1 o7 $ qed H09 S ?

(1) wfergferat (2) =t

(3) T e @) A TR

Which of the following statements is zrue of SLR ?

(1) Itis to be maintained by all Financial Institutions

(2) Itis to be maintained as liquid assets

(3) These need to be kept in non-cash form

(4) All of the above

Fr=feifaa & & @991 se SLR & I & &= & ?
(1) 38 990 iy SRl &R 99T <@n o= 8

(2) 38 W 9T @O F ®O F g9Q @7 S 8
(3) 3% A-AHs ©Y F @ M1 =Ry

(4) I T+

Which of the following rules do net apply to banking companies ?

(1) Companies Act (2) Banking Regulation Act -

(3) Reserve Bank of India Act (4) All of the above
fr=fefaa & § @-ar Faw ST suE ox arp 987 Sar 2
(1) =T SAfafTas (2) e Rt sifafem

(3) wRAdg Rod d fEtEH (4)3qﬂaam

Current CRR rate in India is (May 2024) :

(1) 5.0 (2) 4.2 (3) 4.5 4) 3.5
9T # gaa CRR &X (A5 2024) @ -
(1) 5.0 . (2) 4.2 (3) 4.5 4) 3.5

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D)
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51. Pick out the direct taxes combination from the following :

(1) Wealth tax and excise duty (2) Service tax and excise duty

(3) Income tax and service tax (4) Income tax and wealth tax

Frsffag § @ gooer B3 & TAeE ga -

(1) &Ry #Y AR SR gPH (2) §aT1 BT AR IAE b
(3) afepY S [T &Y (4) FMIHT AT FURT HT
52. As per Union Budget 2021- 22, Fiscal deficit is estimated at - percent of GDP in 2021-22 :
(1) 5.1 (2) 7.6
(3) 6.82 4) 7.2

%ﬁﬁumzozlzz%aﬂaﬂ 2021-22 § ISTHINIE HIET hd 93 G Hl

(1) 5.1 2) 7.6
(3) 6.82 4) 7.2

53. Among the following options, which of these is a capital receipt ?

(1) Tax received (2) Dividend received
(3) Disinvestment . (4) External grants
Prefafad feed § & @ GOl SR & 7
(1) 9r<q &Y (2) 9T<T FATHIST
(3) fafvasT (4) FEdl AR

54. What does the fiscal deficit relate to under the government budget ?
(1) Taxes shortfall ' (2) Disinvestment shortfall
(3) Borrowings requirement (4) Disinvestment requirement
A aole & TP TorhidE |l fhad gefad § 7 |
(1) & & ' (2) Fafrder & a0
(3) Y &I AETHAT 4) R =1 STTasaEHaT

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D) P.T. O.
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55.

56.

57.

58,

59.

ken using the government budget can impact :
(2) Inequalities
(3) Inflation 4) All of the above
mﬁmmmaﬁ%ﬁﬁqmmﬁmmﬁmgi
(1) ey e (2) STAATAY

(4) ITAFT G

(3) HETEHIT

The concept of five-year plans in the constitution of Ind
(2) England

(4) Germany

The measures (a

(1) Resource allocation

ia is borrowed frOM ovveneenss )

(1) Russia
(3) The United States
arg @ dRgE § dead SEe sl SaErem .- B3 en |

(1) &9 | (2) gTs
(3) dgaT To" AR (4) STHAT
Golden Revolution is related to ........... A

(2) Pulses

(1) Precious minerals
(4) Horticulture and Honey

(3) Jute
ol spifar T GET ... eI

(1) g @it (2) =T

(3) I (4) FrTErT SR SEE

Where is Central Agriculture University situated ?

(1) Manipur (2) West Bengal  (3) Andhra Pradesh (4) Uttar Pradesh

F= iy Rrsafeg #el Rad 7 ?

(1) AfeTgT (2) afEm ST (3) ST UasT (4) IAT H=ST
India's economic planning cannot be said to be :

(1) Indicative (2) Imperative (3) Limited (4) Democratic
AR N effefep ATl 78T el S §hal @ -

(1) Qishieren (2) AfYard (3) diffa (4) TRANE

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D)
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60. The forth five ycar plan had begun in the year ............. ,

(1) 1969 (2) 1966
(3) 1962 (4) 1973
e deadty Qo ad ¥ gw g @
(1) 1969 (2) 1966
(3) 1962 (4) 1973

61. Perfect competition is a form of market in which there are :
- (1) A few firms producing identical goods
(2) Many firms producing differentiated goods
(3) A few firms producing goods that differ soinewhat in quality
(4) Many firms producing identical good
ot gftreqal asie @1 ww w9 g, R
(1) a1+ FEgeT B IMEET HT Al FY B
(2)%{%@3%%3@@%3@%3‘%
(@@8@@@@@3@1@%%%%%{@%%%

(4) T FEGST FT IARH B AR hg BH

62. How does AR Curve under perfectly competitive market Looks Like ?

(1) Downward slopping
(2) Straight line parallel to X-axis
(3) Upward sloping
(4) Straight line parallel to Y-axis
quf: gfteddt g & ded AR @ dar R & 7
(1) i & SR g aral
(2) X-378 & gAFER @
(3) BT & A TATT AT
(@) Y-377 & wHEIR A

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D)
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63. Patentis:
(1) A guarantec of quality of consumers
(2) An exclusive right to an inventor of a product
(3) A control over some unique source
(4) None of the above
qde © ¢
(1) SUAERTAT e Hl ME
(2) FFE ST $ eTfaRes @ U (A9 SR
(3) el o2 9 WX s
(4) ST H q g A

64. AR and MR curves are downward slopping under :

(1) Monopoly (2) Monopollstlc Competition
(3) Perfect Competition (4) Both (1) and (2)
AReﬁTMRazﬁ:ﬁ%raﬁaﬁtmer@éﬁ%

(1) TemIfaep - (2) THIfERR aREFET

(3) et AT @) (1) 3T (2) A

65. Which of the following could be the characteristic of an oligopoly market ?

(1) A few firms (2) High barriers to entry

(3) Price rigidity (4) All of the above

Frer % @ Al T SRR AR A RRANT & B 7
(1) & w7 (2) wast 7§ I=g wQre

(3) T HIRI | | (4) SUERT gl

UG-EE-June, 2024/(Econ0mics-4 Yr.)(SET-Y)/(D)



66.

67.

68.

A price ceiling is :

(1) A minimum price that a firm may charge for a good or service

(2) Usually cstablished by the manufacturer of a pfoduct

(3) The maximum price that a firm may charge for a good or service
(4) None of the above

oo §H 1 B

(1) = o o B o el qeg @ BT B R & w3

(2) STHAR IX Rl Swe & BT &R MuiRa Rear S @

(3) ST qe St BE wH FRdl agg a1 dar & g & Fehd ©
@) SUqwT F A BE TE

Which market form there are restrictions on the entry of new firms ?
(1) Monopoly (2) Perfect Competition

(3) Monopolistic Competition (4) Oligopoly

g AT BT F T B @ g w7

(1) THITRR | (2) gt i@ -
(3) eIt ST (4) STARHR

Which one is not normally possible in case of monopoly ?

(1) MC = MR (2) AC=AR

(3) MR = AR | (4) More than one of the above
THITYHR & AHS § HIF-91 9HG &9 9 g 787 8 7

(1) MC = MR (@) AC=AR .

(3) MR = AR (4)éu-aaﬁﬁ@q25%a¢fé€5

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D)

19

P.T. O.



20

69. From the resources allocation point of view, perfect competition 1s preferable, because :

(1) The firm of)erates at excess capacity

(2) There is no idle capacity

(3) There is whole variety of output

(4) Free entry and exit of firms

T Sdes & giedr §, gof uRregsf Jeax 8, il
(1) & s1fafRe amam ox & & 8

(2) g Ffepa avrar & 8

(3) S=€ege & g fafdeaar &
(4) FHT FHT @ad gAY AR

70. The monopolistic firm will be in equilibrium, where :

(1) Price = Marginal Cost (2) Marginal Revenue = Marginal Cost

(3) MR = MC = Price (4) None of the above
TeRITEreh o dga § 8rfl, STl
(1) gfshaT = dHid ArTd

(3) MR = MC = g4

(2) Smia TorE = dEid ar
(4) ST § § P TSl

71. NI = Domestic Income, when :

(1) Net Factor Income from abroad (NFIA) is positive
(2) NFIA is ncgative
(3) NFIA is zero
(4) None of the above
NI = &g 19, 54 -
(1) BT & grs R o (NFIA) ThrIeis &
(2) NFIA RIS &
(3) NFIA g &l
(4) SURAKT H F g el

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D)



72. Value of output is cqual to :
(1) Sales + Change in Stock
(2) Sales + Closing Stock
(3) Sales + Opening Stock
(4) Sales — Opening Stock
SISEYT & T SR &
(1) Tt + 2ip & qRads
2) REfl+ T 2
(3) R + o wih
(4) Rl — o i

73. Net National Product at factor cost is .ca.lled ;
(1) National Income (2) Domestic Income
(3) Personal Income (4) Private Income
HREb AT T P& LT TG FEAr B
(1) T 37 (2) = o
(3) AfRTIA I (4) =11 o

74. Flow of Goods & Services and factors of producti.on across different sectors in a barter

economy is known as :

(1) Circular flow (2) Monetary Flow

(3) Real Flow (4) Capital Flow

gy fafg orfogaeanr ® R &3 7 axgell ok &awi ok swra 3
BREBT B TATE B gH I F A AT E

(1) aRRg= yare (2) Aizw yaTE

(3) e TaTE | (4) T vae
UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D) P.T.O.
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75.  Which of the following is intermediate good ?

(1) Machine (2) Car
(3) Mobile , (4) Sugarcane in a sugarmill
Fraffad § & B9 qogad awg B ? |

(1) #sh= Q) FX

(3) AR (4) I Brer F T

76. Identify the stock variable :

(1) Wealth ~ (2) Income
(3) Saviﬂgs | (4) Capital formation
wH I¥ FH qB=e HY |

(1) == (2) T

@3) e (@) o R

77. Which of the following item' not be included while calculating national income by
income method ?

(1) Wages and Salaries ‘ (2) Royalty

(3) Scholarship (4) Profit
mﬁﬁmn@amaﬁmmﬁwﬁwﬁr@ﬁﬁ%ﬁmmaﬁ
e 727 fhar ST =@y 7

(1) FeIgd SR ga+ (2) s
(3) BRI (4) @

78. The main difference between GDP and GNP is :

(1) Capital Gains (2) Transfer Payments

(3) Net foreign income from abroad
AT ot Sfgedt 3 de ged ot ¥
(1) Gofrrer @ (2) SR A

(3) fRer § g= Rl o (4) ST 7 9§ T 9 e

(4) More than one of the above

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D)
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79. If we deduct depreciation from GNP the measures of aggregate income that we obtain
is called :

(1) Gross Domestic product at market prices

(2) Gross Domestic Product

(3) Net National Product

(4) Personal Income , :
qﬁwﬁm%wwﬁ%ﬁrsﬁﬁaﬁmmaﬁ%@%ﬁ%:
(1) IR 987 49X a6 R IR

(2) THA T I ‘

Q) g= I I

(4) =AfRTTT o™

80. Which organisation is accountable for calculating the Gross Domestic Product of India ?

(1) Indian Statistical Institute (2) Reserve Bank of India

(3) National Statistical Office (4) Ministry of Commerce and Industry
AR & Tehel B IAE &H AT & G BH-61 o7 Iaxa= & 7
(I)WMWW‘ (2) w<ia Red S

3) U givemE wEeE (4)'En'i?’*rw:rvqa':a'e'hvﬁifslwv'ﬂx~

81. The term "data" came from the Latin root term :

(1) Detem | (2) Datam
(3) Datum (4) Data
g% "data" Qfes @ 9= 9§ AT E

(1) Detem - (2) Datam
(3) Datum (4) Data

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D) P.T.O.
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82. Two types of research data include :

tructured d
(1) Recognised and unrecognised data  (2) Structured and unstructured data
essed data
(3) Qualitative and quantitative data ~ (4) Organised and proc

M 32T F Y g T -

(1) A= g1 &R ARy s 2T

(2) Ee ol avRfaa 2er )
(3) TTH oR A=TEE 2o |

(4) Fafeq o Hanfag a1

' ?
83.  Which one is the true example of primary data from the fol.lowmg options
(3) Census Report (4) Newspaper

(1) Journal (2) Book
Rt feedt & @ wrafes 3e1 & @g) I HIH-A1 & 7
(1) s+ (2) =T (3) SETOET RO (4) FHER

84. What is it called when the data is sourced from the place of origin ?
(2) Primary

(1) Secondary
(4) All of the above

(3) Secondary and Primary
S ST O W { O AT B, O 3§ T el o & 7
(1) #AremiEep (2) Ui

(3) et AT St (4) ST T+

What is it called when the data source is gathered and compiled with others ?

(2) Quantitative data

(3) Secondary data (4) None of the above
aaéaehaa%@f?ﬁf?ﬁmﬁm%@f?ﬁ?ﬁ%ﬁmw%ﬁrsﬁmw

85.
(1) Primary data

HeT SaT & 7
(1) wrefyes a7 (2) AETHF ey
3) f&afaes 2er (4) SR ¥ § B =

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D)



86. What comes right before the formulation of the hypothesis in the research ?
(1) Collection of data (2) Analysis of data
(3) Selection of the tools of research ~ (4) Statement of objectives
M F ARBeT & Frmior & dip ged w0 o ¥ 7
(1) 31 =1 Hus | (2) =T FH LA
(3) ST & IGHIO BT =TT (4) IBLAT HT FHEAA

87. The value of the mode of the set of observations: 5, 8, 8, 16, 24, 24, 30, 16, and 24 is :

(1) 24 | (2) 30

(3) 16 (4) 08

DET & TYE B Sgah @l A : S, 8, 8, 16, 24, 24, 30, 16 324 7 -
(1) 24 2) 30

(3) 16 - (4) 08

88. When two variables are related in such a way that one increases so does the other, you

can conclude that :

(1) There is no problem with directionally

(2) The two variables are positive associated

3) Theré are no latent variables affecting the relationship

(4) There is a third variable responsible for the causation between them

S A GY 39 A% 9 HEOd B d € 6 us wear @ o qEwr off sear B, A
g Te fepd e aha 8 ¢

(1) e @9 9 FHE AT T8 ©
(2) A TAX FHRHAH 7 9 IS 8T ©
(3) Helg H gHIAT HA AT FHI3 TR I 8! &

(4) 37 g FE-HRT F T Be|R oF GH\T 91X R '
UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D) P.T. O.
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89. Choose the correct option regarding the sampling method :

90.

91.

92.

(1) E-sample is the population's part

(2) It helps in determining sampling error

(3) Sampling saves money, time, and energy

(4) All these options are correct -

TR Al & i F Par Ry gad @@ ® 7
(1) F9AT SHEE % e @

(2) T& THAHI e FraiRa wa § Hag Hr 8
(3) TLAERRT F Y@, @Hg iR St @ = ekl ©
(4) T 90 Ry 9 B

One of the members of the population is known as the :

(1) Data (2) Family (3) Element - (4) Group
SEET % Gl § 9 TF P el AT 8 -
(1) 81 2) qﬁaﬁ @) (4) A8

Correlation indicates what kind of relationship between two variables ?
(1) Positive (2) Negative (3) No relationship (4) All of the above

TedaEy & T & o9 fh9 dig b G99 H I900aT1 B 7
(1) ThTHS (2) FHRTHE (3) ®E HEyg S (4_)311?‘1%@#?

Why does the value of correlation range from —1to 1 ?
(1) To indicate the direction of correlation '
(2) To iﬂdicate the strength of correlation

(3) Both (1) and (2)

(4) None
gedss r A -1 Q1 O F e & 7

(1) gedsy &1 fRem & T & & g
(2) Heddy H drepd B SR @ B I
(3) (1) SR (2) T=F :
(4) =g &t
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94.

95.

96.

UG-EE-June, 2024/(Economics-4 Yr.)(SET-Y)/(D)

Which method is used by Karl Pearson's coefficient for correlation ?

(1) Covariance method (2) Spearman's rank correlation
(3) Product moment method (4) None of the above

TEEEY F Rig ot Rads @ TerE ZRT R R P SuE B o ¥ 7
(1) Feusor fafy (2) EERAT & T dEHEY
(3) I@rE &for fafey (4)3@#@%#%
What is the purpose of constructing index numbers ?

(1) To compare values (2) To measure changes in values
(3) Both (1) and (2) (4) None

TABIH T I H Ieed FT o 7 _ |

(1) gt & geer &Er (2) g4t # 9REd= @1 AJ9=T
3) (D) a (4) B &

Which type of average is best to construct an index number ?

(D) Arithmetic mean (2) Harmonic mean

(3) Geometric mean (4) All of the above

i WA SN & R fRE SRR 1 ofed Ged oremT ¥ ?
(1) STpIfRI AT (2) sHifFH HIex

(3) S=Ifaig AT (4) SUURT Gt

Index number plays an important role in the field of ........... ?

(1) Economic and Science (2) Economic and education

(3) Economic and business (4) Economic and intelligence

GEhish HEAT ........... & 8 H Heqel g e § 7

(1) AdmE AR s (2) el IR farem

(3) srEleme R FHaaH (4) e iR ghewmn
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97. Circular test an extension of ................ p

(1) Unit test (2) Circular test

(3) Time reversal test (4) Factor reversal test

(1) s qheror (2) TR e
(3) EHT IehHOT geyor

98. The adjusted frequency for class interval 15-25 will be :

(1) 2 ' ) 5
(4) More than one of the above

3) 3

T ST 15-25 % fQ | gy 8

(1) 2 @) 5

3) 3 (4)@%13@@%33%

99. The weighted system changes with .......... .

(1) Quarter (2) Year
(3) Time (4) None
AR FOTRAT ... . % AT et 8 7

(1) femmer 2) a4

() §94 (4) ®E &

100. The Karl- Pearson's coefficient of correlation method of measuring correlation is :

(1) Graphic (2) Mathematical

(3) Positional (4) None of the above

Teddy qrqe 95 HreA-fagaT #H gedey Ot o fa9wst ®
(1) e ’ (2) TR
3) Rufer ‘ (4) IRFT F q HS TS
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